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[ & Al 9,911,191 2,124,852 - 7,786,339
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s | 7 28 & 2 4l 6,649,260 950,820 7,600,080
a]] [ & Al 67,097,079 9,594,642 76,691,721
A &l 28,800,405 1,145,431 29,945,836
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g & 2 Z 4 396,685 59,570 456,255
& 2 g =2 2,415,494 345,407 2,760,901
ol D 82 8 = 462,969 66,203 529,172
4 2 2 &g =2 961,120 137,436 1,098,556
o= 2 & = 1,499,105 214,366 1,713,471
b S A3 HE = 1,390,299 198,807 1,589,106
et & 2 2| 4 1,253,308 267,063 1,620,371
] J B & gl 3,202,409 656,291 3,858,700
LoEIIRYEBER 62,953 9,002 71,955
sgtcgagssrz 46,015 6,910 52,926
[ & A 40,490,762 3,106,486 43,597,249
Al 97,676,650 14,825,980 112,502,631
g gt 2 cl a 5,860,599 889,558 6,750,157
ol = 17,017,266 2,038,602 19,055,868
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[ & Al -9,911,191
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= £ 28 & 2 4l 6,649,260 eSE ST 11.00%
] [ & Al 67,097,079
J A &F 4 28,800,405
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g & 2 & 396,685 | (MW+==+212HZ) 0.50%
o B 8 = 2,415,494 C 24 3.60%
& s 82 8 = 462,969 L2 0.69%
A 2 2 8 = 961,120 eSF S| 1.59%
a =z 8 8" g 1,499,105 ESE SIS 2.48%
Jt g2 ZHR 2 1,390,299 eSE S| 2.30%
et & 2 gl dl 1,253,308 (HE+HLL) 2.48%
Hl Jo8 & 4l 3,202,409 (HEHI+=2H1) 5.60%
LRI RYEEE 62,953 AHeBE=E 6.55%
st egz2aaz 46,015 | (M2U+R-+M=HH) 0.058%
[ & Al 40,490,762
Al 97,676,650
R 2l a 5,860,599 Al 6.00%
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01 BN 22 NFE HABA
#2332 EEH  [30cm0l 2 M3 1,336.08| 12,025 16,066,362 15,940| 21,297,115 27,965  37,363,477| M15H
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=R —+-bJ M3 227.18| 3,077 699,033| 3,619 822,164 4,049 919,852| 10,745 2,441,049| M35 E
EEE-PJ M3 10.54| 2,102 22,155 2,472 26,055 2,766 29,154| 7,340 77.364| M45H
HLsteA & M3 | 5.419.69| 1,848 10,015,587 5,142| 27,868,046 2,431  13,175,266|  9,421|  51,058,899| XI55 H
I &I ton 15.13| 22,050 333,617| 329,168 4,980,312 351,218 5,313,929| XM65E
JIEHE M3 | 2,343.90 1,848 4,331,527 2,173 5,093,205 2,431 5,698,021  6,452|  15,122,843| M75H
EIRIIRE= RISV S D= M2 1,056.00 8,502 8,978,112 8,502 8,978,112| M9& &
& 31,875,149 60,447,819 28,800,405 121,123,373
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22 = e = o2t A=A
NMEUWSESAEFTEHAIEX 2 ANE=2 EH=S A=Y
B (m) . e = Yy ;
EAES z 2 7 E LIR(F) a=s T= nhE — Stes a2 =
1001-00-0
V.H2 27,4 741.86 37.09
= 2T 57.75 2.89
2 Fa ST/ et 33.75 1.69
Pl 2T 9.00 6.8(3)
SEel(14.5%24) S TH79m*1.5m 118.50 5.9
& MEQX|THH /&3 5«4 6.00 0.30
1002-00-0
V. H1 ETH/aIL /NI D1 100 677.18 33.86
V. H1 SM/EM/BIL/225/ME D2 606.90 30.35
V.H1(0I &) H/E25/01Y /X &2et 604 .80 30.24
V.H2 SM/HILE/BE2s 595.00 29.75
V. H1 SM/HILE/BE25 535.87 26.79
V.HEE=D) SM/He/BE2s/ & at 519.24 25.96 52.72
V.H S/HIE 490.13 24 .51
V. H1 ETH/HIL/0IFo2A 468.00 23.40
V.H2 SMH/EM/HYE/BE2s 462.50 23.13
1002-01-0
2 A 2STH(1%15) 15.00 0.75
V.H HT/HIL/058R=E 446 .40 22.32
1003-00-0
V.H HI/HIY/225/015HY /232 EHY 443 .80 22.19
V.H2 H/BIE/0lS0t2A 432.00 21.60
1004-00-0
V.H1(OFH) 2HI/HIY, HHAIE/0E228 420.00 21.00
V.H2(OFH) 2HI/HIY, HHAIE/0E228 420.00 21.00
\/H3 EMW/BIY/E2E/Z/HHII/0152X 40800 2040
2 Fa S/ ST/ at 20.00 1.00
1004-01-0
V. H4 HI/HY/E2S/TRA/INEII/0ERE 408.00 20.40
V. H1 /2SI X OS2 Al & N E I120H 402.80 20.14
1005-01-0
V. H1 ETH/81L /NI 21208 402.00 20.10
1007-00-0
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V.H BM/E=2&, 0L /0E 21204 400.00 20.00
V.H4 HH/HE/E=2E 391.77 19.59
V.H1 HI/HILESSHEII0ISHIY 389.30 19.47
SO HA H=1.8m 418.00 20.90
D (VH2U2) MEI X (3.2%2.4) 7.68 6.28
1008-00-0
V.H HH/HIE/IHEDI204 372.00 18.60
SU(HF) 5+3.3 16.50 9.80
ZAA =TH3.8%1.2 4.56 0.23
ot & Al =71H1.8+0.8 1.44 0.94
ST 22| Ebx6.7 33.50 1.68
ZAA ZctAE1x0.6 0.60 0.03
ZAA =T1x0.7 0.70 0.04
1008-01-0
V.H1 SH/BE/E28 368.75 18.44
V.H1 HI/HIY/ 2SS/ MHBY/EHADE 363.00 18.15
V.H HIH/HIE/I0H D204 360.00 18.00
S (VHALES) =1, et 148.75 15.68
1008-02-0
V.H HIH/HIE/I0E D204 360.00 18.00
V.H1 3ERZ/EM/HIL S 2SME DI 2H 360.00 18.00
V.H /0 357.70 17.89
V.H6 /UL, HEDL0ERE, 22HAL 357.50 17.88
=2 (VH3LEE) SI/23clELtY 34.72 4.28
ZAA =M 15.00 0.75
1012-00-0
V.H1 ZH/8IEINEH D128 355.25 17.76
V.H1 ZH/8ILINEH D14 352.80 17.64
1013-01-0
V.H2 HM/HIE/OHHDI2N/E2E 352.75 17.64
V. H4 /ST L22 2 A& X2 IHE J124 352.50 17.63
1013-02-0
V.H1 OIETE,B28, 2, B, 2L 352.00 17.60
1014-00-0
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S (VHILIS) =M 75.52 8.36

V.H2 OIZEPE, 225, 1BY B, 2eAlL 352.00 17.60

V.H3 OIE7PE, 225, 4BY, B, 2eAlL 352.00 17.60

D (VH2U2) =M 12.24 2.02

gl I/ MHMEL X EE /S TH 14.80 2.28

ZAA =M2.2%2.4 5.28 0.26
1014-01-0

V. .H4 OIE7RZ, 224, 2% I, 2HAIL 352.00 17.60

=% e =M 67.20 7.52
1015-01-0

V.H5 OIZE7PE, 225, 4BY, B, 2e/AlL 352.00 17.60

V.H6 OIZ7PXE, 225, 4BY B, 2e/AlL 352.00 17.60
1015-03-0

V.H7 OIZE7PE, 225, UBY B, 2eAlL 352.00 17.60

HEE D S/ Xt 10.60 1.86

V.H8 OIETE,B28, 2, B, 2L 352.00 17.60
1015-04-0

V.H2 BIE/EM/OHEDI2 351.00 17.55

0t2| 3t & 4l S/ X&e 1.00 0.90
1015-06-0

V.H1 BM/HIY/ 228 /X2 0/0I1SVH/NE 12 350.00 17.50

V.H2 HT/HIL/E2E/HHII/ MR/ SAL 2525 350.00 17.50

S (VH2LH2) =M 78.00 8.60

HI A HM/E2L/SNM/HE 21.00 1.05

ENE ETH/0.9+0.4 0.36 0.02
1015-07-0

V.H4 2, 8E 350.00 17.50

V.H9 OIZE7PE, 225, UBY B, 2e/AlL 348.00 17.40

V.H1 ETH/HIE/ONEIDI20H /2 Al & 347.75 17.39

S (VHILIS) =M 61.80 6.98

MHE 2| Xl e 4+1.2 4.80 1.28
1016-01-0

V.H HTH/HIE/ONEIDI20H /22 Al S 347.75 17.39

V.H HTH/HIE/ONEIDI200 /22 Al S 347.75 17.39
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V.H ET/HIL/ONEDI2H /2 A& 347.75 17.39
V.H ZIH/8IL/I0NE D208 346.80 17.34
V.H1 E/BIL/OHEIDI60 / Xt2 et 346.08 17.30
1016-02-0
V.H5 2/ B/ Bes 341.29 17.06
1016-03-0
ASE 1.00 0.05
1017-00-0
V.H1 E/8IL /X2t /0 E 21208 339.50 16.98
V.H E/BIL/O0NEH D2 337.60 16.88
S (VHILE) = 6.25 1.42
2= MW/ 2MM/8IE/22E M 5.25 0.26
1017-01-0
V.H2 =N 337.50 16.88
V.H2 EMW/HILES2SHH D01 =H 336.20 16.81
V.H E/BIL/I0NEH D2 336.00 16.80
V.H1 ZIH/8IL/I0NE D208 336.00 16.80
V.H E/BIL/OHEIDI200 / Xt 2ot 336.00 16.80
V.H EIH/8IE /I0NE D208 336.00 16.80
V.H ZIH/8IE/I0NE D208 336.00 16.80
V.H ZH/8IE/I0NE D208 336.00 16.80
V.H 2/ B/ B2s 336.00 16.80
1018-01-0
V.H5 HIH/HILY,HEHDI, 01 E2X, 2HAIA 335.50 16.78
V.H E/BIL/O0NEH D2 335.25 16.76
V.H E/BIL/O0NEH D2 333.38 16.67
1018-02-0
V.H1 EH/8IL /X2 /OHH 0|2 333.00 16.65
V.H2 /8l / X2/ D12 333.00 16.65
1018-03-0
V.HI(SE HI/HY/E2s/232 EHY 333.00 16.65
V.H I/ E2&/81L/I0H D20 330.20 16.51
1018-04-0
V.H I/ E2&/81L/I0NH 20 330.20 16.51
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V.H E/HIE 330.00 16.50
V.H ETH/HIE/OHHI D120 330.00 16.50
V.H3 M/ 0IsHE/E=8 329.00 16.45
1019-00-0
VH3 HM . HE . B=258 329.00 16.45
V_H10 OETE wes, M2, BT, B2A 328.00 16.40
SU(VHILHR) S, e 48.98 5.70
=Ettel SMLLYLHIOIZ(H=1.5) 40.00 2.00
1021-01-0
V.H1 ETH/HIE/OHHI D120 328.00 16.40
V.H1 ETH/HIE/OHHI D120 328.00 16.40
1021-02-0
V.H5 /ISR NH I 24 AlE 326.25 16.31
V.H2 SMH/HE/22E N 326.25 16.31
V.H3 HN/HLE/E228 323.40 16.17
V.H1 EH/HIE/OHEDI2 323.25 16.16
1022-01-0
V.H3 H/HL/E228 322.35 16.12
1022-02-0
V.H1 ETH/HIE/OHHI D120 321.75 16.09
V.H1 E/HEHERAX LB RS 320.25 16.01 32.82
1022-03-0
V.H ETH/HIE/OHHI D120 318.00 15.90
VH1 EM HE B=28,082% 315.00 15.75
1023-00-0
V.H2 E/HIE/OHEDI2 314.25 15.71
V.H2 ST /BIE/ONHI D120/ XH2 2t 304.50 15.23
V.H3 S TH/BIE/ONHI D120/ XH2 2t 304.50 15.23
1023-01-0
V.H1 /HIE/EE S/ NEHI/ ALY/ SN /2EEEY 300.00 15.00
V.H Y/ MEXHAB2S 2 300.00 15.00 30.80
AR A MEXEd ZICEHS 24.00 3.20
1023-02-0
V.H1 BT /6IE /228 /01Z 1L/ HH 1194/ 26onIlH0l T 298.35 14 .92
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V.H2 HM/HIY/B25/0/58IE 298.35 14.92
1024-00-0
V.H3 /UL /228/015H1L/HEDI1H 298.35 14.92
V HTT OETE Hes, M2, BT, B2A 296.00 14.80
S (VHILE) EIH/@E 40.00 4.80
1025-01-0
V.H1 /Y X2 SO HE D290 294.00 14.70
VH2 2. HE . BE28 294.00 14.70
V.H4 ZH/BIL/0IEVH 292.50 14.63
V.H4 HM/0ISHILE25MH I 290.50 14.53
V.H1 /I /OHEIDI2H/ 0182 E 288.00 14.40
V.H2 AW /YL x2S HE D200 283.50 14.18
2 S/ E2E 0/ XH2et 26.40 3.44
1025-02-0
V.H3 /8L Xh& et 283.36 14.17
V.H1 ET/BIL/OHEIDI200 / Xt 2 St 280.00 14.00
V.H /8L 280.00 14.00
V.H3 EW/HIE,NED L 0E2E, 224A 4 277.12 13.86
1025-03-0
V.H /8l /X2t 273.84 13.69
1025-04-0
V.H3 HM/HIY/B25/0/5HIE 273.78 13.69
1025-05-0
V.H1 /8L 270.00 13.50
1025-06-0
V H12 OETE Hes, M2, BT, B2A 268.00 13.40
1025-07-0
V.H6 ETH/81 L OHTEH 21400 266 .89 13.34
1026-00-0
V.H1 HM/HIYE/B25/013V.H 266.00 13.30
A9 SM/E2EM/D=s%/=2MN 8.96 0.45
gl BlY /&Y /EMN 45.60 5.36
=% 22, X2 43.40 2.17
ZAAb 1.00 0.05
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220t 3 & A Z23clE =T 1.00 0.90
1026-01-0

V.H2 BTH/HIL R Z 224 AEIHHDI3H 262.50 13.13
1027-00-0

V.H2 /UL, HEDL0ERE, 2HAIL 261.00 13.05

V.H1 ENREE 259.00 12.95

V.H6 /UL /K> 24 AL/ HEIDI20 258.75 12.94
1028-00-0

V.H7 /UL /K> 24 AL/ HEIDI20 258.75 12.94

V.H2 2/0lSHE /228 258.75 12.94
1029-01-0

V.H1 =R 258.00 12.90

&2 HH/HE/ 228 5.94 1.40
1029-02-0

V.H4 HH/HE/E2&/01881E 257.40 12.87
1030-00-0

V. H4 /228 0L, 0EDL 057X, 224AL 256.06 12.80

V.H HH/HIE/I0HD1 204 255.45 12.77

V.H3-2 OIS /EM/ &S 247.50 12.38

V.H4 /0 247.50 12.38

V.H1 HIH/HIE/INEDI20H 247.00 12.35

S2H(VH1, 2L %) MEL| X2 /S TH 88.40 9.64

ZAA 1.00 0.05
1032-01-0

V.H2 22/ 241.50 12.08

A (GIRAUR) 41.25 4.92
1032-02-0

V.H1 SMH/BIE/2E29 M 241.50 12.08
1032-03-0

V.H13 OIZEPE, 225, UBY, B, 2eAlL 240.00 12.00

V.H1 HH/HE/E=2E 240.00 12.00
1032-04-0

V.H6 /Yl /29 AHH D4 236.50 11.83
1032-05-0
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V.H 2M/BlE/E2&/ X2 235.00 11.75

A (GIRAUR) S/ X2t 34.76 4.28
1033-00-0

V.H3 H/HIE /015 234.00 11.70

V.H HH/HIE/I0HD1204 234.00 11.70

V.H1 HH/HIE/E22E/HHDI2 232.80 11.64

V.H 2, =M 232.55 11.63

V.H3 /Yl /29 HH D4 231.00 11.55

V.H1 /8l /OHEIDI200 /015 R = 228.00 11.40
1034-00-0

V.H13 /8L /I0H D204 227.15 11.36

\/H4 H/HIL/ESE/HEIINN/S=AE /25259 22680 11 34

EEZ(E2LE) HY/EIIS/H2.0 25.00 1.25
1035-00-0

V. .H5 H/HIL/ 2SS/ RHD K/ SN 2E25% 226.80 11.34

V.H1 HI/HIY, Y, ATA2Y, I H 20| 225.00 11.25

V.H1 2/ E2M/0H 212 225.00 11.25

V.H1 HIH/0IBHIL/B2E/ B/ S AL 222.00 11.10

ot & Al =M 1.92 1.00

A (VHALHR) =T, & HE =S 15.00 2.30

&2 /&Y 6.00 1.40
1036-00-0

V. H2 HI/OIBHIE/Ees/HBY/S2A4 222.00 11.10

V.H2 HH/HE/ 228 220.25 11.01

X =/ Xr2et 15.84 0.79

A (VHILIR) 2M/BlE/ B8/ &S 34.56 4.26
1037-01-0

V.H12 /81 /I0H D204 217.80 10.89

SEZ(E2LE) /& 2H2m 75.00 3.75
1037-02-0

V.H4(OkXH) /MY, HHAIE/0IEE2S 217.00 10.85
1038-00-0

V.H1 /P /29 NE DK 216.00 10.80

V.H2 /Pl /29 NHE DK 216.00 10.80
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MEaWSESACF=EAIGE X2 ANE=E AHEE M=
[ 2
= Cam) | w2 | 2 | mus | e= | JE | 22 | e
ZABS s =7 2 = Ho(x) oA -
=gl SMH/dlE 9.00 e
ZAA EctAE/1.5%1 1.50 —
V.H =R 216.00 —
=2 (VH3LIE) =M 137.70 —
V.H2 EHM/HlE, X239 NH D122| 216.00 e
V. H1 ETY/HIL /22 /3TV.H/HEHDI2 213.50 10.68
V.H2 /UL /E22E/3ZV.H/HEH D1 213.50 .
1041-00-0 —
V.H1 /UL /3BVH/3EE2/MEDI2 213.50 e
\/.H1 BIH/HIL/22/01SHILSHRA/NEDI1H/TH0| = 213.00 10.65
V.H2 HI/HIL/228/015HIL52A/TH0I Z6em 213.00 10.65
V.H3 HI/HIL/228/015HIL52A/TH0I Z6em 213.00 10.62
V.HI1 /UL /OHEI D204 212.30 . —
A2 A MHE 2| Xl e 20.00
1041-05-0 —
V.H2 HX/HE 211.68 —
S (VHUR) =M, & 82.00 e
&2 =M, HE 30.00
1042-00-0 —
V.H1 E /UL /OHEI D134 211.20 o
V.H2 /UL /OHEI D134 211.20 oo
V.H3 E /UL /OHEIDI3H 211.20 e
V.H5 T/ E X2 9OHH D124 210.00 —
S (VHALES) ME 2| Xl e 95.73
1042-02-0 —
V.H2 HI/0ISHIEESEMHII2AZS 2 210.00 e
V.H2 HM/HE/ Xt 210.00 .
1042-03-0 —
V.H3 /0 210.00
—-04-0 .
e V.H3 2, 8lE 210.00 10.50
-05-0 —
o V.H1 HH/HILEE S22 N2 2INHDI2 210.00 10.5
1044-00-0
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V.H10 HIH/HIE/I0H D204 209.55 10.48

V.H1 OlSHIY/EM/225/0H D12 208.08 10.40

V.H2 OlSHIE/EM/ 225/ DI2 208.08 10.40

V.H1 2/ 0lSHE /228 208.00 10.40

V.H3 ETH/XH2e/OHH D130 /HI Y 208.00 10.40

V.H4 ETH/XH2e /ORI D130 /Hl Y 208.00 10.40

Salelal 1x2/SM/BE2E 2.00 1.00

X2k 5EM/BlIE /&t 11.00 0.55

ot & Al =M 2.30 1.04

& SM/1*1.5 1.50 0.08

=Elel SM/1.5%5 7.50 0.38

TEA 2= /35¢m 1.00

ZAAH SM/1.5%2 3.00 0.15

ZAA2 EIH/4x1.5%1.8 10.80 0.54

ZAA3 EIH/1.5%1.56%1.5 3.38 0.17
1045-01-0

V.H2 /8L /I0EDI1H 205.80 10.29

HASFY /S (HYx2et) 13.86 0.69
1045-02-0

&2 =M 21.00 2.90
1046-00-0

V.H3 M, 6l OHE D208 205.80 10.29

V.H1 /8L /I0EDI1H 204.60 10.23

V.H2 HIH/HIE/IHEDI1H 204.60 10.23

V. .H14 OIERE, B2 2o M, 2HAL 204.00 10.20

V.H1 OIE/EM/E22E/MHDI2 204.00 10.20

V.H2 OIE/EN/E22&/HDI2 204.00 10.20

V.H1 /U, xr2e 228, HH DI 202.10 10. 11

V.H4 HH/HILY/ X2/ B2 /232 EH 201.45 10.07

=2 (VH3-1U2) =, 0|2 13.00 2.10

Z=ANHENZ) HI/SM/XZo/HY2/22s/028Y 42.75 2.14

&2 =M 3.75 1.18

ot & Al =M 2.25 1.02

39 T/ ST/ Z THH=1.5M 25.00 1.25
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39 Tl /S TH/E THH=1M 15.00 0.75
ZAA 2/ S/ X2t 15.75 0.79
1047-00-0
V.H1 HTH/HIL /222015 VH/NEIDI12H 201.00 10.05
V.H1 2SI EMW/EIL/XNES/0BPE 200.00 10.00
1049-01-0
V.H2 2SI EMW/HIL/XNES/0EPE 200.00 10.00
V.H5 Z /81 INEH D144 199.28 9.96
V.H1 /0 198.75 9.94
1049-02-0
V.H5 ENREE 198.00 9.90
V.H1 EHIH/HIE/I0H D204 197.60 9.88
V.H2 HIH/HIE/I0H D204 197.60 9.88
V.H1 HH/HE/ 228 197.58 9.88
V.H1 HIH/HIE/I0HEDI1H 196.80 9.84
SH&EH A =M 1.00 0.90
SHEAI2 =M 2.50 1.06
&2 =M, 8lE, &9 15.60 2.36
1050-00-0
V.H ST+l 196.50 9.83 20.46
V.H3 EHIH/HI1E/I0EDI1H 192.00 9.60
V.H4 /8L /I0EDI1H 192.00 9.60
V.H1 H/HIL/ 2SS /X2 0IEVH/NE I1 1K 192.00 9.60
V.H2 H/HIL/ 2SS /X201 FVH/HE I1 1K 192.00 9.60
V.H OIERE/EM/HIL /B2 NHII2N 192.00 9.60
213 ME X 24 5+4 .5 20.25 2.82
24013t & Al 1.00 0.90
S (VHSLER) =T ME X EE 132.00 14.00
22| AH(VH3LH &) =M, & 38.00 4.60
1050-01-0
V.H HM/HIE/OHHDI2/ 0 RE 192.00 9.60
V.H HIH/HIY/225/0EHII2/01 52X 192.00 9.60
V.H HIH/HIY/225/0EDI2/01 52X 192.00 9.60
V.H2 ZH/8IEINEH D208 189.00 9.45
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NEaEW=EsAEFEAISX 2 KANE=E EHEH MA=UHS
EVE 5 = 2 = 522;—; g2 | w2 | mus | == | JE ) ZB o,
1050-02-0
=S A I/ Ea/ xr&9 117.00 5.85
0r 2| 3t &t Al =ZctAE 1.20 0.92
1050-03-0
A QA I/ Ee/ X9 63.00 3.15
1051-00-0
V.H1 23 ETH/BIE/INHI D111 189.00 9.45
V.H2 H/HIE /015 188.50 9.43
V.H1 /8L /OHE DI 188.10 9.41
1052-00-0
V.H2 /8L /OHE DI 188.10 9.41
V.H SH/bE/E28 188.02 9.40
V.H1 HIH/HIE/I0H D204 188.00 9.40
1055-01-0
V.H1 BH/HILE2S X2 UINHDI2H 187.00 9.35
V.H2 HH/HEE2S 187.00 9.35
1055-02-0
V.H3 H/HE 187.00 9.35
1055-03-0
V.H2 EHH/HIE/I0NH D204 186.30 9.32
1057-01-0
V.H3 H/HIL/E25/35V.H/OKE |2 185.50 9.28
V.H1 /81, JNEH D204 185.00 9.25
V.H Ol=/EM/S2H/HH |2 184.50 9.23
V.H1 OIE/EN/E22E/MHDI2 183.30 9.17
V.H1 H/HE 183.12 9.16
V.H1 H/HE 183.12 9.16
V.H2 H/HE 183.12 9.16
V.H1 EM/BIL(0IS)/NEDI2 183.00 9.15
V.H2 HTH/HIL /222015 VH/NEIDI2H 183.00 9.15
1057-02-0
V.H2 /8L /I0EDI1H 182.40 9.12
V.H2 HI/HIE/0I502A 182.40 9.12
V.H9 HIH/HIE/I0H D204 182.05 9.10
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NEaEU=EaNe=8EAMEXNR XNE=E EAHEF M=

A = = 2 = Coie | @2 | =2 | ==s | == | JE | 22 | o0&

V.H (23 /HIL/NEHDI1N/ 228/ X2t 182.00 9.10

V. H1 OIZRE/E/HIL/ 22/ WEDI20H/01 5L 180.60 9.03

V. H2 OIZRE/E/HIL/ 22/ NEDI2H/01 50l 180.60 9.03

V. .H3 OIZRE/E/HIL/ 22/ NEDI2H/01 5L 180.60 9.03
1058-09-0

V.H1 ZH/8ILINEH DI 1H 179.40 8.97
1058-10-0

V.H2 ZH/8ILINEH D14 179.40 8.97

X0l n /2E2E/Fe/ D2/ uEY 59.50 6.76

SH& Al SH/bY/RRs/MBe/2IREHY 5.70 1.38
1059-00-0

V.H /UL /228 /0HII2/015PE 179.40 8.97

V.H EHI/HIY /228 /0HII2/01 52X 179.40 8.97

VH1 E NN 178.12 8.91

V. H1 HT/OIEHILE2SWEIRAT 2 177.00 8.85

V.H2 LEHE/HIL/ RS/ B/ AT 177.00 8.85
1060-00-0

V.H1 EHIH/HIE/I0HEDI1H 177.00 8.85
1061-00-0

V.H2 H/HE 176.90 8.85
1062-00-0

V.H1 E/BIL/NEHIDI10 /28 176.40 8.82

V.H2 E/BIL/NEHIDI1O0 /28 176.40 8.82

V.H3 HXH/HIE/I0EDI1H 176.40 8.82

V.H4 /81 /I0HDI1H 176.40 8.82

V.H2 HH/HIE/INHDI20H 176.00 8.80

V.H4 H/HE /X9 175.50 8.78

V.H2 HM/BIL /228 /0B D11H 175.00 8.75

V.H1 H/HE/E2E/01572E 174.96 8.75
1066-00-0

V.H1 HH/HE/ESE/E 174.96 8.75
1066-01-0

V.H HH/HE 174.72 8.74
1068-04-0
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MEaU=Es A=A AE=E EA=E S4SUS

IR z = 2z Coie | @2 | =2 | ==s | == | JE | 22 | o0&

V.H1 ETH/HIEOHH 1204 174.00 8.70

V.H1 HIH/HIE 22501 SVHMHE DI 14 174.00 8.70

V.H2 EIH/HIE 22501 SVHMHEH D124 174.00 8.70
1068-05-0

V.H3 E /62 22501 SVHHNEIDI20 174.00 8.70

ZIAH EM/2Y /EH 5,1.9(H) 62.70 3.14

A HERAX (4*2*9) 72.00 3.60
1068-06-0

V.H1 H/HIE 173.85 8.69

VH1 EH/HIE /X229 /OHEI D12 173.60 8.68

V.H OIS/ZM/E228/0H D2 172.25 8.61

S (VH2LH2) MHEX 98.00 10.60

=Etel OHOI &, Xt 2ot 1.00 0.05
1068-07-0

=2 (VHE ) SN, MERAX THY 172.00 8.60 18.00
1070-00-0

V.H2 /B /OHEDI2 171.00 8.55
1071-00-0

V.H HIH/HIL/22E/HHDI2/052E 170.40 8.52
1071-01-0

V.H HIH/HIL/22E/HHDI2/00852E 170.40 8 .52

V.H1 2SHE /B NHDI40H /221 AIE 168.64 8.43

V.H2 LS ET/HIL/NHDI4N/24A & 168.64 8.43

V.H2 S TH/BIE/ONHI D120/ XH2 2t 168.30 8.42

V.H1 EH/HIE/IHEI11 K 168.00 8.40
1071-02-0

FEY SMH/EM/ X 8.75 0.44

& /Xt 5.50 0.28

A S/He 2.00 0.10
1072-00-0

V.H3 HM/HE/E28/0157X 168.00 8.40

Ay ST/ 24.44 3.24
1073-01-0

V.H4 HM/HE/E28/0157+X 168.00 8.40
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XAES s =2 2 x Coie | @2 | =2 | ==s | == | JE | 22 | o0&
V.H5 /8L / 22/ HED1H/0157E 168.00 8.40
1074-00-0
V.H EM/HE 168.00 8.40
V.H8 = 165.00 8.25
V.H3 EM/HE 165.00 8.25
1075-00-0
V.H7 = TH 162.00 8.10
V.H2 /UL /HEIDH 162.00 8.10
V.H1 EI/HIL/ 2/ 228/015 522 /50010l T 161.00 8.05
V.H1 EH/HIL /015 /1S 2 (50MIH0I X ) 161.00 8.05
V.H2 ETH/HIL /015 /J1S 2 (50MIH0| ) 161.00 8.05
V.H3 EH/HIL /015 /1S 2 (50MIFO0I X ) 161.00 8.05
V.H1 HM/HIE /225 /0H 1M 161.00 8.05
V.H7 HIH/HIL/22E/01BV.H/IIHDI2H /S T/ X2 ot 161.00 8.05
V.H /Ao 160.00 8.00
V.H6 = 159.00 7.95
V.H1 W /81 EO0NH D120 159.00 7.95
V.H5 EH/HIE /013 159.00 7.95
1077-00-0
V.H6 EH/HIE /013 159.00 7.95
V.H3 2, HE, 0SR=E 159.00 7.95
V.H2 H/HIE/ 2SS/ Y/ HEII/0ERE/BAANE 158.76 7.94
V.H2 N/HE/2Y/SH/E2S 157.70 7.89
=2 (VH3LH 2 ) MER X et 178.44 18.64
= Hl/Hg/E28 13.00 2.10
2 A 1.2+0.8 0.96 0.05
1078-00-0
V.H4 /8O0 H D140 156.96 7.85
= Hl/Hg/E2s 4.00 1.20
1079-00-0
V.H2 M/ HIE/0ISFE 156.80 7.84
V.H5 = 156.00 7.80
&1 =M 5.00 1.30
&2 =M 5.60 1.36
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X = O
= o4 X2 22 AFEL
NEWZ2INlTUAMLXNT NFE BHEY MELHY
H< 3
IMNHS E T = U2(F) a3z 5 = sto A 53 _
) B 7.00 150
=0 (VH2LH =) BN 10.75
1081-00-0 —
V.H7 2 JH/HIL /OIS VH 156.00 —
o) S, HY, 2320E 24.00 2.20
0,25 HA S, HY, 2320E 12,50
1082-00-0 —
V.H2 2 TH/HIL /IR 120K 156.00 Z80
V.H2 SH/HL/EeE/ATY 153.75 . —
59t (VHR) ME P RITHA 45.90 240
AF2 &1 (VH?) ME S RITHA 16.20 242
e W(7)*H(2.2) 1.00 005
oy B AAH=2 150.00 50
2 et =/3.6+0.8 2.88
1082-02-0 —
V.H ETH/HIL /2SR 153.64 —
SO (A RAEE) ECRET 72.00
1085-00-0 —
V.H4 =Y 153.00 —
sEtel X2, B OIS . 4m 75.00
1086-01-0 —
V.H2 2 /61 /XHZ O/ OHEID| 14 153.00
1087-00-0 —
V.H /0L 152.75 L6 —
V.H BN 152.75 6.08
= = TH(2x4) 8.00 040
S (VHILS) MEARI B ST 44.08 20
0rel 3t & Al 1.3¢1.7(S M) 2.21
88-00-0
. V.H EN/SHESSa R 152.10 ;gg
V.H3 =1 150.00 . —
=k H/HIL /22 /X 15.00 2.0
SIErE D EN/HE/ 22/ 9.25 LT2
Xt HH/HIY/Ees 8.00
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(=) ) - = X (== =R 3 =
ANEWSESAEFEAMEXN? XNE=S EAH=:SE &=
m) - = =
MBS 2 = = 33 = Es stoA JIEt
=FEte /& 220/ (H=1.8) 68.00 3.40
= /& 220/ (H=1.8) 47.00 2.35
HASA ETH/E Y/ ME QX T2 5H:2 20.00 1.00
ZAAb 1x0.5/Z 2t A&l 0.50 0.03
=2 (VHIU =1, et 33.50 4.16
= 22( =1, &t 55.00 6.30
1089-01-0
A A OFA} I/ Ee/ xr&9 171.00 8.55
2003-00-0
V.H16 OISEMN 150.00 7.50
V.H HI/HIY/225/0EDI2/01 5 X 150.00 7.50
2004-01-0
V.H /8L 148.50 7.43
& E SM/HE 39.00 4.70
2005-01-0
V.H /8l /X2t 147 .84 7.39
V.H7 =N 147.60 7.38
2005-02-0
V.H1 /8L 147.50 7.38
V.H /UL /225 /0H 2120 147.00 7.35
2006-01-0
V. .H1 LS /HIY/2eS/MBY/ATYBRY 147.00 7.35
V. H1 OIS/ M/HIL /22 /X2 HE D2 147.00 7.35
V.H1 HT/HIL /B2 E R RO HE IO ERE /2N 147.00 7.35
V.H3 I /HIL /B2 E KR HE IO ERE /2RIl 147.00 7.35
NS 0.8+0.5 0.40 0.02
2007-00-0
V.H HIH/HIL /22 SO0/ K=/ D1 20K 146.26 7.31
V.H2 E/HIE/ONEDI2H /015 = 144.90 7.25
V.H3 ZIH/8IL/I0NE D14 144.00 7.20
V.H E/BIL/O0NEH D2 144.00 7.20
2009-00-0
V.H8 2M/BlE/ B8/ &S 143.50 7.18
V.H1 E/BIL/O0NEH D2 143.00 7.15
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yx (== =) /\|. = L
2= X EH Al S X2
ANEWSESAEFEAMEXN? XNE=S EAH=:SE &=
=
m) o g= ) J1EH
MBS E -2 X = =] SIS A _
b= /&S 22.50 LB
S (VHILE) =M 30.00
2010-00-0 —
= AH SM/HY . ®e 27.45 L8
= A2 SN/ EH. &S 3.50 >
= A3 SM/EH. &S 3.50 .18
= At=Elel I/ Ee 31.00 L
24 AH M E 2| X 2l 5.40 _
ZAAR2 ME | x| 2l 8.05
2011-00-0
V.H15 OIZERXE 225 Ao, B, 2AIL 140.00 7.00
2012-00-0 —
V.H H/HE /X9 140.00 LX
V.H /UL /225 /ME 2120 140.00 .
2013-00-0
V.H2 /UL ERE M2 X BHLINEH D2 140.00 ;88
V.H2 2M/BIE/22&/018V.H 140.00 6.90
V.H1 H/HIE /015 138.00 6.90
V.H3 /8L 137.90 6.89
V.H3 SMH/BE/E2&/23CEBE 137.70 6.87
V.H1 2M/BlE/ B8/ &S 137.46 .
014-00-0
: VH3 2.0 B28, 2% 136.40 g??
VH1 ENREE 135.30 6.75
V.H1 HI/HIY/ 2SS/ RB/MES X B 135.00 6~66
V.H1 2M/BlE/ B8/ &S 133.25 . —
S AN (VHAL 2 ) M E 2| X T 1 1.00
2015-00-0 —
V.H2 2M/BlE/ B8/ &S 133.25 —
=55 E3X(H=0.8) 23.00
2016-00-0
V.H3 2M/BlE/ 228/ &S 133.25 6.66
2017-01-0
V.H4 2M/BlE/ B8/ &S 133.25 6.66
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S5 (HUHE) ST, S ME X B 151.45 15.94
2017-03-0

V.H5 2M/BlE/ B8/ &S 133.25 6.66

HEED =1, 8l 1.00 0.90

D (VHUR) ENREE 60.00 6.80
2017-04-0

V.H6 EM/BlE/ B8/ &S 133.25 6.66

V.H7 2M/BlE/ B8/ 25 133.25 6.66

ZAA =M 1.00 0.05

XA (2l EHE) N ! 12.00 0.60
2017-05-0

V.H8 2M/BlE/ B8/ X2 133.25 6.66
2018-00-0

V.H EM/BIL /228 /0E 21204 132.03 6.60

=Y =M 26.00 3.40
2019-00-0

V.H5 HM/HIE/B2E/20/ad 132.00 6.60

X HH/HE/EEEE 19.25 0.96
2020-00-0

V.H1 /8L /I0H D144 132.00 6.60

V.H==9) SH/bE/E28 132.00 6.60 14.00
2021-00-0

V.H2 /0 132.00 6.60
2023-00-0

V. H3-1(Z2|AFEE) /S LB X U3R 22522 N E | 131.25 6.56

&2 SM/ESS 4.00 1.20

& =M 1.00 0.05
2024-00-0

V.H4 Ol=/EM/HIE/22E/HHIDI2 131.25 6.56

&2 =M 72.80 8.08

V.H1 2M/BlE/ B8/ &S 130.90 6.55
2024-02-0

V.H3 /0 130.00 6.50

=% =M 82.20 9.02
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— D2t A= L o
X EH (o] N =
HEUSESX2IFLALNT NS BHEY MEUY
HIY 2
HE(m) == oa M= == ioN S JIEt

ZAEHS s & -2 X Lo(=x) a3z 2 st A =D —_
ZAAb 2.00

2025-00-0 —
V.H2 ZIH/8IL/I0NE D208 130.00 —
A (HUH =) 24.50

-01-0

e V.H2 HTY/HIY/ X2/ 225/015 6t A /50nTHO| T 129.50 gji
V.H9 /8L 129.00 6:38
V.H2 ZH/8IL/I0NEI D14 127.50

2027-02-0 —
V.HI(=5%) SH/HIY/22s/2e EH 73.98 —
V.H3 ZH/8IL X2 2OHH D120 127.20 6.33
V.H2 ZIH/8IL /I0NE D404 126.50 .

2027-03-0 —
V.H8 ZH/8IL/0IEVH 126.00 =
V.H6 E/8IL /X2t /0 E 21208 126.00 . —
X 2F M, SM, B8l 24.00

2027-04-0 —
V.H HU/HIE/22&/0HII2/0157E 126.00 e
V.H1 /81, NH | 125.05 . —
ESgny EIH/ &S 3.19 e
22 EHIH/MHER X THH 13.50 o
A9 2/ S 11.10 =
=2 (VH2UE) SM,MEL X EH 79.20 e
ZAAb 1.2x0.8 0.96 o
SHEA(QR) 1.3x1.4 1.82

2027-05-0 —
V.H2 SM/HYE/BE2s 125.00 -
V.H1 2M/BlE/E22&/015H L 124.80 6.24
V.H2 2/BlE/22&/015H L 124.80 6.20
V.H 2M/Hld/B2s 124.00 . —
SHEHA = 2.16

2027-06-0 —
V.H2 E/BIL/ONEH D2 123.50 .t
V.H3 OIERE/EM/HIL/IHBL/ B2/ HEHII2 123.00 .
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z = 2 = = i B= 2 o
V.H HM/HILE/xZet/ 228 ) 122.50 6.13

V.H2 AW /HIE/OHHE D10 121.50 6.08

V.H2 ZSHE T /B /OHEID1K 121.50 6.08

=oH(VHILLE) ME R X Erdl | ST 76.30 8.44
A M/ ME X B/ S TH 42.20 2.11
ENNE E=VEES 4.98 0.25
2 /8l / 2SS 14.00 2.20
Asa = 16.00 0.80
St& Al M E 2 Xz 1.00 0.90
A =, Bl 39.90 2.00
X+2f =, HE 32.00 1.60
ENE ohdl =t 20.00 1.00
A9 E=DVESES 12.00 0.60
VH ET/BIL/OHEIDI400 / Xt 2 St 121.20 6.06

D (LH=2142H K1) THOI T4+XHZ O/ IO T+ 2 TH+H| L 110.20 11.82
V.H2 M /HE 121.20 6.06

V.H2 E2/BIL/0IER2E 120.96 6.05

ES gy HMW/HLE2S 7.14 1.52
22 SIH/BIE 10.66 1.86
A9 SN/ =T 10.44 0.52
H A S/ ES 7.02 0.35
21 AH SI/Ea 3.48 0.17
A2 S /Ea 1.69 0.08
V.H3 M /HE 120.96 6.05

A9 SN/ =T 18.00 0.90
V.H4 /UL ELMNEOI2H/015RE 120.70 6.04

V.H HM/HIY/B2E/xr2at 120.00 6.00
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2037-00-0

V.H1 I HIY 222G, 2L 228 120.00 6.00

V.H2 ZH/8IEINEH D208 120.00 6.00

Sy M/ EAU/HEE 12.19 2.02

212 M/ HAU/HEE 38.00 4.60

V.H5 HH/HIE/I0TE D204 120.00 6.00

2= Etel H=2m 80.00 4.00
2038-00-0

V.H6 EHIH/HIE/I0E D204 120.00 6.00

V.H3 EHH/HIE/I0TE D204 119.00 5.95

V.H1 HIH/HIE/I0H D204 118.80 5.94

V.H2 OIETE/EM/HIL/ IO/ 225/ HEHII2 117.00 5.85

V.H2 ETH/XH2e /ORI D130 /HI Y 117.00 5.85

V.H3(E 1) SH/AEIRE/XZU/22EN 116.25 5.81

Sy H/HE 13.30 2.14

212 /0, xr&9 15.75 2.38
2039-00-0

V.H1 EHIH/HIE/I0H D204 116.25 5.81
2040-00-0

V.H2 EHIH/HIE/I0H D204 116.25 5.81
2040-01-0

V.H3 HIH/HIE/I0H D204 116.25 5.81

=% ME Xl e 26.00 3.40
2040-02-0

V.H4 H/HIE/22E/38V.H/MEDI2 115.70 5.79

V. H2 H/HLESS2 S SN ZUNE D2 115.50 5.78

S (VHILIS) =M 36.00 4.40

ol =7 6.00 1.40
2040-03-0

VH3 2, Y, 2258 115.50 5.78

=% MHE Xl e 35.50 4.36

ZAA 22.00 1.10
2041-00-0

V.H3 ETH/ K22 /ORI D200 114.70 5.74

_27_




T

ic

= m)
IR = =) 2 = a2 A o1&
2042-00-0
V.H1 =R 114.00 5.70
=% MHE 2| Xl e 18.00 2.60
2 = 4.60 0.23
A (H H=1.5m 150.00 7.50
2043-00-0
V.H5 /0 113.75 5.69
SU (AR =M, & 54.00 6.20
ZAA =M 3.00 0.15
ot & Al 1.00 0.90
2043-02-0
V.H1 /UL /OHEIDI20H 112.84 5.64
2044-01-0
V.HA(Z D) SH,EM/E25,HE 112.50 5.63
V.H1 BIY/EN/E2&/H3% 112.00 5.60
2044-02-0
SV SN, A08E MER X ZH 112.00 5.60 12.00
AEA =M 13.34 0.67
2045-01-0
V.H2 (&) SH,EM/E25,HE 112.00 5.60
V.H5 HM/HE/E28 111.93 5.60
V.H1 H/HIE /K20 /OHE DI 111.60 5.58
V.H3 ZH/8IEINEH D144 111.25 5.56
V.H3 =R 111.00 5.55
V.H1 OIZEE/EM/HIL/XEU/22E/HH D12 111.00 5.55
V.H1 2, 8l€,01572x 110.40 5.52
V.H1 /UL /HEIDH 110.25 5.51
2045-03-0
V.H3 HM/HE/ Xt 109.74 5.49
2045-05-0
V.H2 =R 109.20 5.46
V.H2 HM/HE/E28 108.50 5.43
V.H4 /UL /OHEID120H 108.50 5.43
V.H3 2StEM/HIE /228 /X2 /AT2Y 108.00 5.40




— o2k /\l' = L o
X EH A X2
NESUZSSXeITHUAMAXT NS FHSY MEHS
HlI< =k
HE(m) = oo M= s= vio S J|E
ZABS s =7 2 X Ho(x) 33 = = St A e
2045-06-0 —
V.H9 /I /01SH 108.00 2
V.H2 ETH/HIE X220/ HE X2 107.50 5.36
V.H3 EIH/HIL/HEDI2N/ 2 2s /Rt 107.25 5.33 —
S (VHIZA) =T, ME X T 106.50 .
2045-07-0 —
V.H5 /UL /HEIDH 105.00 2
V.H1 /UL /OHEIDI120H 104.65 2
V.H4 E /B /X2t /AE I3 104.50 5.23
V.H5 EH/BIE /X2 e/ AHIE I3 104.50 .
2047-00-0 —
V.H HM/HE/E28 104.37 2=
V.H1 OlZE/EM/HIL/XH&2/STH 104.14 .
2048-00-0 —
V.H3 Z /81 I0H D208 104.00 —
2| =of 274 9.43
2049-00-0 —
V.H HM/HE/E28 104.00 2
V.H1 HH/HE/E=2E/2E2EN 104.00 . —
%.EE” =M, & 37.50
2051-00-0 —
V.H3 /UL /OHEIDI120H 104.00 2
V.H1 HI/HIY/22s/2SEM/ AHNE S 103.95 . —
s =M1.3%2 2.60 0
=2 (VH2LH 2 ) ME LI Xled 42.00 20
A 2N/ 1.96 e
=N =M4+5.7 22.80
2052-00-0 —
V.H2(0I &) HM/E2S/HE/ e 102.30 E
V.H3(0I &) HM/E2S/HE /X 102.30 —
Q2| F A /DS 2. 7«20 = &l 13+ 35.00 =L
ENEM HM/ DS LHIEEN6*1.5+3 12.00 =
&2 MELIXIEE7.5m 7.50 =2
s (VHILIE) ME 2| Xl e 110.25

_29_




x
10
=
Iy
4 HI
iff]
>
o
M
Ja
=
e
>
—J
p|
0
1
[l
A
1
o
pa
I
=
1%

EVE = = S S o) g2 | w2 | mus | == | JE ) ZB o,

M2 D (VHILIS) ME 2| x| 2kl 21.00 2.90

ZAAb 3.00 0.15
2053-00-0

S (VHILE) MELXBY, MBS 22s 226 102.05 5.10 44 .02
2054-01-0

V.H2 & TH 102.00 5.10

V.H 2/ B/ B2s 101.50 5.08

=55 MBI (H=1) 14.00 0.70
2055-00-0

V.H4 /8L 101.05 5.05

V.H2 M. HE,0152% 100.20 5.01

S (V.HILE) S/ & 22.00 3.00
2056-00-0

V.H2 = /U OHH D298 100.00 5.00

V.H4 ZIH/8IE/I0NEI DI 14 99.00 4.95

V.H4 /8L 98.47 4.92

V.H2 /8l /X2t 98.00 4.90

V.H1 EM/BIEXEUE2S 97.80 4.89

A9 19.95 1.00

Z 0 (3HEAl) g ot 2.20 1.02
2057-00-0

V.H2 ZIH/8IL/I0NEI DI 14 96.80 4.84

H A SM/EL/HIE4+2 .4 9.60 0.48

ZAAb ScHAET.2%0.5 0.60 0.03
2058-00-0

V.H3 /8L 96.80 4.84

V.H4 ZIH/8IL/I0NE D14 96.80 4.84

V.H2 EM/BIEE2S 96.25 4.81

V.H8 ZIH/8IL/I0NEI D14 96.00 4.80

S (VHILE) = 59.50 6.76

OF2| 3t & A SN/ &S 2.25 1.02
2060-00-0

V.H3 /8l /X2t 95.90 4.80

V.H4 SW/bYEesZoEI EHG 95.73 4.79
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=) ) = (o] A2 = St A= L (o]
ANEUWZSESAEFEAMEAN R ANE=E EHEF MA=UHSE
2|
= PR | m= | e2 | mws | == | JE ) 2T 55 | oy
MBS 5 B + = LI2(F) = sloA 2 -
ZIAE SN/, 2y 7.50 L
NES =N 350.00 .

2061-00-0
V.H 2/ BE28/ X2 94 .50 j;g
V.H3 HIH/HIL/ XY/ 22E/01 552 A /50010 Z 94.00 4.69
V.H HI/HL/ Bes/ M2/ 22N 93.79 . —
AR A (VHLH2) ME 2| X| ZHH+AEA 32.24 0.31
AEY N/ H3E/=M/HE 6.25 3.50
=FEtel =N 70.00

2062-00-0 —
V.H3 ZIH/8IL /I0NE D404 93.50 4.

2064-00-0

V. H3( A &) Y /HYEesRBURIR EHS 93.50 4.68 —
20 M /&S 35.40 2.
ZAAb = 1.20 S
HI A 3.9+3/ BT/ B/ B2E M/ A0 ST 11.70 L

ZAAb 6.4+3.8/&E /& 2/& 8t 24.32 .

R 1.66 5,863.00
eI MEAIA HEl/EW232E(1E) 123.71 84.06 - s
eI MEAIA HEl/E 232 E(2E) 123.71 84.06 .

2065-02-0 —
= Ol S&e 63.36 -
SHA(0IEE) 67.76 :

R 1.83 6,424 .00
eI MEAIA HEl/E2232E(18) 136.00 91.88 - TN
eI MEAIA HEl/E 2232l E(28) 80.00 56.26 0.21 0
eI MEAIA HEl/E 2232 E(38) 12.15 13.12 .

2066-02-0 —

158 st 189.20 2 ;13
2=4 st 54.60 .

R 0.56 78.02 2,998.50
SMAE1S MY/ ARl /MEL[X| T 162.56 48.77 o S
SMAIE2E HHY /25 =el 109.75 32.93 0.47 — X
A E3S HHg /25 =el 109.75 32.93 . . ,
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NMEUWSESAEFTEHAEX 2 ANE=2: EH=S A=Y
ETE z = 2 =z 522;—; a= 22 Hus == e 22 JNEr o
2069-00-0
HE(1E) HZ /232 E/UelM/atd 105.50 31.65 27 .22 0.46 2,042.50
HE(2E) HZS /232 E/UelM/atd 205.50 61.65 49 .62 0.61 3,692.50
HE(3E) HZ /232 E/UelM/atd 115.50 34 .65 29.46 0.49 2,222.50
HE(SE) HZ /232 E/UelM/atd 16.80 7.34 0.23 0.84 230.00
220 Oto| = /&8t 7.92 1.60
Halelal ME X Tt 1.00 0.90
2069-01-0
SR A D 2.1%0.9 1.89 0.09
X2k Z219IE2HI0IE 4.20 0.21
XH2k2 Z2I9IE2HI0IE 12.25 0.61
XH2E3 Z219IE2HI0IE 9.10 0.46
=& A 96.80 4.84
2070-00-0
VH S,HY,d82ma 93.48 4.67
V. H3 2=VH/E /81 /OHHE D13 93.10 4.66
2071-01-0
V. H1 HM/BIE /225 /HH D124 93.00 4.65
VH2 EHTH/BIL/OHEHID4 93.00 4.65
V.H2 /P /xF=e/ 0 D120 92.25 4 .61
V.H H/BE/BE2s 92.00 4.60
V.H2 HM/HE 91.00 4.55
V. H3 HM/BlY/225/0H 2|2 91.00 4.55
=101 ME X Bt 1.60 0.96
212 S/ 2T 5.00 1.30
=01 ME X EHE/AFA 10.35 1.84
=212 ME X THE/AFA 28.60 3.66
=0 (VHILLE) ME X Tt 85.35 9.34
SO (VHALEE) ME X Tt 28.60 3.66
2071-02-0
V.H HM/BlY/BE28 /2t 90.75 4.54
AF2 Al ME X Tt 18.00 2.60
2071-03-0
A2 Al 2T 57.00 6.50
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NEaEW=EsAEFEAISX 2 KANE=E EHEH MA=UHS
EVE 5 = 2 = 522;—; g2 | w2 | mus | == | JE ) ZB o,
2078-00-0
V.H6 /8L /I0EDI1H 90.00 4.50
2079-00-0
V.H = 90.00 4.50
2079-01-0
V.H2 /81, JNE D204 90.00 4.50
2079-02-0
V.H(EDD) HH/HE/ 228 90.00 4.50
2079-03-0
V.H /0 90.00 4.50
2080-00-0
V.H /0, xr&9 90.00 4.50
ASFY =M 1.00 0.05
2080-01-0
V.H8 = 89.25 4.46
2081-00-0
=gl H/HE /X9 25.00 3.30
2083-01-0
V.H1 H/HE /X9 84.00 4.20
V.H4 H/HE/ Y/ B2s 84.00 4.20
V.H2 H/HE 84.00 4.20
2083-02-0
V.H HH/HE/E2E/0152E 84.00 4.20
V.H10 H/HIE /015 84.00 4.20
V.H1 HBH/HISSHE2522E M 82.20 4.1
2084-00-0
= ME | X 2l 82.16 4.1 9.02
V.H1 2, SM/E228, 8L 81.60 4.08
2084-01-0
V.H(ED) 2M/BlE/ B8/ &S 80.50 4.03
V.H3 HIH/HIL/ 225 /0EH D200/ X 2Het 80.00 4.00
AR A (V. HILIE) ME 2| X2l 40.00 4.80
2084-02-0
V.H3(ZelAb) H/HE /X9 80.00 4.00
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NMEUWSESAEFTEHAEX 2 ANE=2: EH=S A=Y
ETE z = 2 =z 522;—) a= 22 Hus == e 22 JNEr
V.H HM/BlY/ X8/ HE D2 79.75 3.99
=2 (V.HILHE) ME X Bt 46 .25 5.42
2084-03-0
V.H HM/BlY/ X8/ HE D2 79.75 3.99
=a ME X Tt 12.00 2.00
2084-04-0
V.H EHM/BIL/HH D3/ X2 ot 79.75 3.99
2084-05-0
V.H /81 /NI D130 / RF 2 et 79.75 3.99
V. H1 = TH 79.75 3.99
2084-06-0
V.H3(Z& 1) HM/BE25,HY 79.20 3.96
2084-07-0
V.H2 HM/BY/E25/22E ) 79.20 3.96
V.H2 /P /xF2e /0 D110 78.00 3.90
A2 A (V. HLHE) ME | X T (30M2) 30.00 3.80
2085-01-0
V.H2 HM/BlY/BE28 /2t 78.00 3.90
V.HB(Z 1) HM/HE 78.00 3.90
2085-02-0
V.H2 EHI/HIL/HHIDI2IH/ 012X 78.00 3.90
V.H HM/HE 77.50 3.88
2085-03-0
V.H2 HM/HE 77.00 3.85
V.H HM/BY/XZe/B25 77.00 3.85
V.H HM/HE 76.38 3.82
2085-04-0
V. H1 HY/B2s 76.30 3.82
V.H2 = TH/HI 0 H D144 75.77 3.79
2086-01-0
V. H1 HM/HL 75.60 3.78
V.H2 M. HIE . OHEI D208 75.35 3.77
V.H9 ETH/aIL /NI D1 100 75.00 3.75
V.H(E D) /0, 2es B 75.00 3.75
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NEaEUWZSESAEF=EAMEXF XNE=E: EH=F M4=UHS
e z = 2 = 522;—) g2 | w2 | mus | == | JE ) ZB o,
V.H HM/HIY/B25/xr2at 75.00 3.75
V.H3 =N 74.82 3.74
OrQ| 3t & Al M E R X2 1.00 0.90
AP AL (Ol EH & A) M E R X 2 27 .56 3.56
2087-00-0
V.H1 SMH/HL/B22E5/2E2EHE 73.98 3.70
2089-00-0
V.H1 /8L 73.95 3.70
2091-01-0
V.H2 B/ B2 73.50 3.68
V.H2 =N 73.20 3.66
V.HI(==%) SH/HIY/2es/2de EHte 72.21 3.61 8.02
=2 (VH2LHE) SM,MEL X EH 147.30 15.54
20 Sd0IE/SM/ X2t 28.61 3.66
SAHA Sd0IE/SM/ X2t 23.04 3.10
SHEHA 2O EHIE/SM/ME X B 2.21 1.02
=Etel H=1.5m 352.00 17.60
23cESH 9.72 1.94
A9 SN/ /X2t 103.80 5.19
A W, E2(3.8+12) 45.60 2.28
2092-00-0
V.H1 E/8IL/Xr2et/J0E 211K 72.00 3.60
2093-00-0
V.H3 ZIH/8IE/I0NEI D14 72.00 3.60
V.H2 /8l / 2SS 72.00 3.60
V. H11 /8l /0IEVH 72.00 3.60
S (VHILE) =, e 87.50 9.56
2094-01-0
2 SM/23clEdHE 25.65 3.36
PN 4.2%4 16.80 0.84
2094-02-0
V.H 2/ B/ B2s 71.50 3.58
V.H1 EIH/8IE/I0NE D208 71.50 3.58
2095-00-0
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NEUWH=2E= X2l =EALE X 2 LH
EVE 2 = 522;—; a= o L J\Et
V.H3(Z el A}) 2M/BlE/ B8/ &S 71.40 3.57
=2 (VH3LHE) ME | x| 2kl 70.00 3.50 7.80
g = 4.00 1.20
2096-00-0
V.H /8L 70.00 3.50
=% ME 2| X 2l 69.94 3.50 7.80
V. H2( EHIH/ST/HIL /TR MES T B 69.60 3.48 7.76
2097-00-0
V.H HI/HIL/ 228/ X2/ INEIDI2H 69.30 3.47
V.H1 /8L 69.00 3.45
V.H2 /81, NH | 68.93 3.45
V.H1 22, X2 68.85 3.44
A o, 22 EntE 21.24 2.92
0t2 MEL X . 2x1.2 1.44 0.94
2098-01-0
V.H5 2B /HLESS 68.75 3.44
2099-00-0
V.H E/HIE/OHHEIDI200 / RE 22t 68.62 3.43
V.H /ML /2es/22YH/01BHIL /T2 67.20 3.36
2100-00-0
V.H1 /8L 66.50 3.33
=FEtel I/ E LH=2m 53.00 2.65
2102-00-0
V.H7 H/HIY /228 /35V.H/OWH DI 66.42 3.32
2103-00-0
V.H /8L 66.00 3.30
V.H1 2M/BlE/B2&/01587x 66.00 3.30
V.H2 2M/BlE/B2&/01587x 66.00 3.30
V.H1 EIH/B8IL/I0NE D208 66.00 3.30
2104-00-0
V.H1 ZIH/8IL/I0NEI DI 14 65.70 3.29
2105-00-0
V.H M, 6lE OHH D2 65.45 3.27

2106-00-0




=EAIE X+ XE=2

P
I

d=

o

ic

ZABS E E = a2 HHE S stoA JIEt
V.H1(=9) EM/SMUE 55.00 6.30
V.H3(E 1) EM/HIE/XEY/SH/E2S 64.96 3.25
V.H(ED, 828 SH/EZ2/HIE /229N 64.80 3.24 7.28
V.H1 EM/HE 64.80 3.24
SEte /22 Y(16.5+8.5)+(5+13.5) 208.00 10.40
2106-01-0
2107-00-0
V.H2 EH/BIE/OHEDI200 / Xt et 64.80 3.24
asa EM/HE/ S/ 29 10.50 0.53
2107-01-0
=Etcl HI/H=1.4 210.00 10.50
2109-00-0
V.H2 HM/HE/ Xt 64.40 3.22
&2 S/ R 31.25 3.92
V.H H/HE/ Y/ Bes 64.40 3.22
2109-01-0
AEX S/ e 14.00 0.70
A 1%1 1.00 0.05
Ore|st&H Al =M 2.25 1.02
2110-00-0
=% ME 2| Xl e 63.80 .19 7.18
2111-00-0
=% MHE 2| Xl e 63.80 .19 7.18
V.H3 OIS/ZM/BIE/ 228/ 63.75 .19
=Etcl H=1.5 22.00 1.10
2111-01-0
V. H(AIRA!) BN/HIY/E2s/22EN/DREHS 63.60 .18 7.16
V.H H/HIL/ YN, S/HBU/SH/222E/015 63.00 15
2111-02-0
=% ME 2| Xl e 63.00 .15 7.10
V.H H/HE/ Y/ Bes 63.00 .15
V.H5 =R 63.00 .15
=2 (VH3LH 2 ) ME 2| Xl e 33.75 4.18
A2 A (VHILHS) MESI X EE(4.5%10.2) 45.90 5.40
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NZ2WHZ2E 22 FEASE X 2 = LH
o] L

A = = 2 = ) a o i J\Et

Z D (VHIWS) STH, 8 EH(4%3) 12.00 2.00
2115-00-0

V.H HI/HY/B2s/22EM/ D22 (HY) 63.00 3.15

V.H1 E/BIL/OHEIDI200 / Xt 2 St 62.72 3.14

St & Al = 1.00 0.90

=oH(VHULHE) =, e 9.00 1.70

A (VHRUH S ) =, e 32.25 4.02

2 27 (3.3%4.5) 14.85 2.28
2116-00-0

V.H4 /- 62.64 3.13
2117-01-0

V.H(& D) 2N/ BE2E/SExdsdY 62.48 3.12

V.H M /HE 62.40 3.12

A9 I/ MU/ AEIZE /X2 29.25 1.46

=9t =, e 81.00 8.90
2118-00-0

=t =, e 62.16 3.1 7.02

V.H2 /8l / 245 /232 EHE 62.10 3.1

V.HI(22) /YRR R =0 61.60 3.08

V.H4 M, |:||“'I IHEH D124 60.50 3.03

V.H2(=9) 2/ B/ Be2s 60.00 3.00 6.80

=oH(VHULHE) SM/23cEdHE 77.04 8.50

ES gy =, HE 12.95 2.10

22 =, HE 25.92 3.40

A 1.2x1.7 2.04 0.10
2119-00-0

V. HH/HL/ B/ AR/ ERs 60.00 3.00

=9t M E R X 2 14.39 2.24
2120-00-0

V.H2 =M. HY BE28 60.00 3.00
2121-00-0

V.H1 AW /YL /OHHE D404 59.85 2.99

At A (VHLH 2 ) 2 20| sA2FAl 13.50 2.16

2122-00-0




= HE(m) = HIY 3

AR g R X = =2 SES == _ n
A S = he(= @ . = SIS A 2 & -

V.H HHM/HIY/ 2 /B2E 59.50 2.98

V.H2 M /HE 59.50 2.98

SPNS =M 1.00 0.05

Hl A SH/EL H=1M 40.00 2.00
2123-00-0

V. H1 S, EN/E25 8 59.50 2.98

V. H1 /UL /X2st/O0NH 2120 58.76 2.94

V.H(E D) HM/HIY/B2E/xr2at 58.50 2.93

V. H1 HM/HIY/B2E5/22E M 58.50 2.93

V.H4 AW /YL /OHHE D298 58.50 2.93

V.H2 AW /HIE/OHHE D404 58.30 2.92

V.H4 /8l /X2t 58.20 2.91

V.H3 /8l /X2t 58.20 2.91

V.H2 OIERE/EM, SM/2e5, I 57.00 2.85

VH1 2, 8le, X2t 56.12 2.81

SO (AR AIZE) SN/ EE/232 ELtE 62.25 7.02

MIS & SM/HYE/BE2s 2.34 1.04
2125-00-0

V. H1 /8l /X2t 56.00 2.80

V.H /8l /X2t 56.00 2.80

=oH(VH2ULH ) =M 53.64 6.16
2126-01-0

SMAE1S HIY/HY/E22A2E/2M/E M 66.75 20.03 0.38 32.04 1,381.50

SMAIE2E HIY/HY/H223A2E/2M/E M 210.60 63.18 0.62 101.08] 3,779.00

M A E3S HI/HY/H2232E/2M/E M 29.70 8.91 0.29 18.10 735.50

& 2l A (H=2) 135.00 6.75

= =N 4.88 0.24
2127-00-0

V.HI(&D) HIH/HY/ B2/ 22s/XRa 55.00 2.75

V. H2 HI/HIY/E2a/I>e/2 T2 EHiet 55.00 2.75

=OHVHILE) =, e 29.18 3.72

=oH(VH2LHE) =, e 50.00 5.80

2N (2UdHAES) =M 10.00 1.80
2127-01-0

_39_




= X [ ) —— o:'
NEaEW=EsAEFEAISX 2 KANE=E EHEH MA=UHS
XM | m= | 22 | mws | == | UE | 2B oo | oy
YL z = = = Lo (= 2 | 22 | =y e | 22 Ll
SeSEAE(E) "EIEEEE 12.50 1.5 BT
SelME AL (2E) s3/Eseo 57.25] _105.39 .02
Sel M E A (3E) s3/Eseo 142.00__ 95.69 .314.50
25-2 3L H3/8548 51.48 15.44 1,132.00
35-232L| H3/8548 51.48 15.44 ,459.00
35—l etCh H3/8548 15.25 4.58 —
2l A = 42.72 0.19
=R e 3.78 0.1
R =7 8.75 .14
Tl A 1.8%1 23.00 0.05
SteH(g3aL) =M,EZ4cl 1.00 .
S V.HI(==%) SMH/blE/E29 M 54.50 6.26
V.H2(& 1) 2M/BlE/ B8/ x2S 54.00
-00-0
2 HASFY /=44 16.00 8513(1)
= 1.5%1.5 2.25 3.60
=& HAA+D 2 (H=1.5) 72.00 .
S 2 MEAAE(XIS) Hotx/&etB0|2t 114.30 34.29 29.19 1;?28
2 MEANE(15) Aot /&etB02t 121.16 36.35 30.72 ,
HE 232 E 3.60 0.72
SaHAa 232 E 3.24 0.96
ESgny ZelEEE 97.02 5.65 —
X101 H/HE /X9 23.40 2.46
X102 HH/HE/ 229 M 16.50 2.70
X113 H/HE /X9 19.08 .
et & 1(H=1.6m) ANHEEZS(SHUQIYE) 25.00 5.00 —
& &2(H=1.8m) =R 150.00 30.00 1.35
PN HM/23A2 EHE 27.00 0.90
&2 A A ZSCIAE 1.00 .
2131-01-0
2132-01-0
V.H6 H/HlE /X&) 54.00
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EJVE z = = Coe | @2 | =2 | =us | == | JE | 2% | 5@ | an

V.H B/ =M/E228 54.00 2.70
2132-02-0

V.H2 EM/HENHZUE2S 53.96 2.70

=Etcl 27.5m,1.8(H) 49.50 2.48
2134-00-0

=ot HY/E UM/ QsY/ST/NHEDS 53.30 2.67 6.14

V.H2 M/ HIE /&89 52.92 2.65

V.H3 SH/HEXHZAE2S 52.87 2.64

=% SMH/HEXHZA/E2S 52.87 2.64 6.08

=% 52.51 2.63 6.06

=2 (VH3LH 2 ) MERX IS, 2T 91.02 9.90

A2 A (VHILHS) MER X etd 10.00 1.80

ZIc|ESH 0.3+0.3 25.00 5.00

V.H BN /HIE/ 22N/ B/ 22/ W /oont S/ 015 52.51 2.63

EH2(VHALIR) EM/HE 20.72 2.88
2134-01-0

NSRS H22EJCEX 355.18 231.28 11,564.00

X &2s JEEZXE 384.68 115.40 0.81 184.64] 6,580.00

X438 JHEEIXE 318.71 0.74 156.82 740.00

mersrg (b, o) = 38.00 12.96

el e (&) Bt 14.40 2.88

mersrg2(Hre, o) = 36.68 12.64

Oletole2(&E) Bt 14.44 2.89

HBA RIS A (H) S/ ZEicl 196.96 9.85

g% 23c|E/HE S 30.60 3.06 1.53
2134-03-0

SEANSLIA(2HBHA) 8.64 7.64

(bt & &, ) 9.36 7.96

SEMSLIA(SH) 2.88 1.08

V.H1 EM/HE 52.02 2.60
2136-00-0

V.H(E ) Hl/Hg/E28 51.75 2.59

=% SH/MEAXHY/2S 54.00 6.20
2136-01-0
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NEaEU=EaNe=8EAMEXNR XNE=E EAHEF M=

XAES s =2 2 x Coie | @2 | =2 | ==s | == | JE | 22 | o0&

h& 2.7x1.5 4.05 0.20
2136-02-0

V.H5 H/HE /X9 51.00 2.55

AT OIBVH/B2& 49.00 5.70
2137-00-0

V.H HH/HIE/I0H D204 51.00 2.55

V.H3 HH/HIE/I0EDI1H 50.40 2.52

&2 H/HE /X&) 18.00 2.60
2138-00-0

V.H1 HH/HE/E=2E 50.40 2.52

V.H(ED) S/l 50.00 2.50

EEINED MERIXIY, SH 11.84 1.98

el AHE D) 3.36 1.14

=Elel HIIS/E2YE(H=1.5m) 200.00 10.00
2139-00-0

V.H /0 50.00 2.50
2141-01-0

=% MHE 2| Xl e 48.00 2.40 5.60

V.H(==0r) BTH/HIE /B 2/ H ) B 48.00 2.40

V.H4 =R 48.00 2.40

V.H6 H/HE /X9 48.00 2.40
2141-02-0

V.H1 H/HIE/OHHDI2 47.46 2.37

A (V.HILSE) S/ X2t 18.00 2.60

V.H2 (&) EHIH/PTA /Xt 47.36 2.37

V.H2 /0 E STt 47.25 2.36
2142-00-0

V.H2 HH/HEE2SIMEH D204 47.04 2.35

V.H3 H/HIEE2SIMH 204 47.04 2.35

V.H5 HH/HEE2SIMH D204 47.04 2.35

V.HA(H AL HH/HE/E2E/1E 46.80 2.34

= HM2.3%1.8 2.00 0.10

=Elel HIH/EA20191m, =014m 104.00 5.20
2143-01-0
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MEaEWSEScF=EHAIE X XAE=2 EA=E dEUS
IR z = 2 = Coie | @2 | =2 | ==s | == | JE | 22 | o0&
V.H1 EM/HE/ 228/ 46.75 2.34
V.H2 ETH/HIE /X0 OHHIDI20H 46.40 2.32
2143-02-0
V.H1 F/HIE/ e s/ RSN/ PR R/ NBY/(45) YN 45 .88 2.29
V.H4 EM/HIEE2SHHII204 45.08 2.25
2143-03-0
V.H3 EH/HIE/HH D 45.05 2.25
2143-04-0
V.H E/HIE 45.00 2.25
2143-05-0
V.H9 T/ HIEE2SHHJI2H 44.64 2.23
2143-06-0
V.H10 T/ HIEE2SHHJI2H 44.64 2.23
V.HE T/ HIEE2SHH D12 4410 2.21
2143-07-0
V.H8 T/ HIEE2SHHJI2H 4410 2.21
VH NN 43.35 2.17
V.HA(E 1) HFl/HE/E28 42.90 2.15
V.H11 T/ HIEE2SHHJI2 42.78 2.14
2145-00-0
V.H2 (RS E) H/HE/E28/ZY 42.64 2.13
V.H =N 42.50 2.13
V.H2 E/HIE 42.50 2.13
V.H4 E/HIE 42.00 2.10
V.H7 T/ HIEE2SHHJI2H 41.40 2.07
=l SNH/HILEAER2S 24.79 3.28
AR A (VH3LH =) 6.6+2. 1(MESXITH) 13.86 2.18
NSHE =2H1.8+1.7 3.06 1.10
S (VHALHR) S, e 26. 11 3.42
A 6.00 0.30
Ol BH & (VH2LH =) MHE X e 140.00 14.80
2147-00-0
=9 = 40.00 2.00 4.80
V.HB8-1 HBN/HE/SH/ S 40.00 2.00
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NMEUWSESAEFTEHAEX 2 ANE=2: EH=S A=Y
ETE z = 2 =z 522;—) a= 22 Hus == e 22 JNEr
V.H8-2 /L /S 40.00 2.00
V.H HIY /& T/ XH&et 40.00 2.00
VHEE, SHE) HM/BY/XZe/B25 39.93 2.00
ZD1(VH3E =) HM/BY/E285/8% 39.90 2.00 4.80
V. H1 H/BE/BE2s 39.78 1.99
V.H6 H/HY BE25 39.60 1.98
VH2 HIH/HLY/ 228/ 2Y%/MEAX A2 3850 193
V. H1 = TH/HI 0 H D134 37.89 1.89
V.HI(&D) HM/BlY/BE28 /2t 37.52 1.88
V.H3 =DV 37.50 1.88
V. H(Z D) H/BE/BE2s 37.50 1.88
Orl St & A 2.00 1.00
2147-02-0
2148-00-0
V.H2 EHIH/HIL/2EVH/2E 22/ EH D12 37.50 1.88
V. H1 2M,80lY,E2E 4 37.44 1.87
S (HF) AME QX DL 39.00 4.70
2149-00-0
V. H1 HM/BEHZuBE2s 37.26 1.86
SN 2 /232 EHtE 14.00 0.70
21 AH ETH/ma 4.84 0.24
2AAI2 Y/ o 4.84 0.24
SEtel H=1.2m 151.00 7.55
H A ST/ o 2.25 0.1
V. H1 = TH 37.20 1.86
2150-01-0
s SH/HE/E2s/2AC EHE 37.00 1.85 4.50
V.H5(HAAZ) 2N, HY, =2 36.90 1.85
soH(VH2LHE) ME X Tt 71.25 7.92
OF2| St & A ME X Tt 1.50 0.96
2150-02-0
V.H5 /g 36.55 1.83
V.H(ED) HM/BlY/XZe/B25 36.40 1.82
=231 ME X Bt 3.00 1.10
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NMEUWSESAEFTEHAEX 2 ANE=2: EH=S A=Y
ETE z = 2 =z 522;—; a= 22 Hus == e 22 JNEr
2150-03-0
V.H2 HM/BIY/ES2E M0/ X2t 36.11 1.81
2151-01-0
=231 232lE/SH0IE 9.00 0.50
2152-01-0
V. H1 HMW/HE/SM/E25/xH&2a 36.00 1.80
V.H MEQX|THH/H| Y/ xp2et 35.50 1.78 4.36
V.H4 /8L /x2et 35.00 1.75
V.H(XD) HM/HL 34 .65 1.73
V. H(Z D) /8L /x=et 34.20 1.71
V. H1 /8L /x=et 34.00 1.70
V.H2 HM/BIE/225/0H DI 33.75 1.69
ME X Bt 2.2%1 2.20 1.02
THCH Al S & A 2T 1.80 0.98
ME QX Bt 50T2.4M 30.00 3.80
ME X Tt 70T6M 8.00 1.60
S (H=F) 27,4 19.60 2.76
2152-02-0
V.H3 HM/BIY/225/0H DI 33.75 1.69
V. H1 H/BIEE225HH D120 33.60 1.68
V.H1 2/HY/ 225 /232 EHE 33.50 1.68
2 A HIW/E2U1.2%1.5 1.80 0.09
2153-01-0
2 (VHLE) SM/&dI0lE 32.90 1.65 4.10
Hl A = TH (H=2m) 21.00 1.05
2153-02-0
V.H2 ETH/aIL /NI D1 100 32.00 1.60
2154-00-0
V.H2 = TH 31.62 1.58
2154-01-0
2154-03-0
2155-00-0
V. H1 HM/BIY/225/0H DI 31.50 1.58
V. H(Z D) /L /B2 31.50 1.58
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SN T o X} S =
AN2UWSEZAEFHAISE X NES =i
- o= (m z
5 z = 2 = uDEx; 2 | =22 o i JIEH o
T \"T —
EM/H/xp2et 31.50 1.58
/g 30.80 .54
ME X e 30.25 .51 3.82
ETH/BILSTHE TRt 30.00 .50
V. HA(Z2] AF) HM/HY/B2S 30.00 .50
ST/blY/xrZe/232 EtE 28.75 44
20/He /232 28.75 44 3.68
2o BT/ /2L S/ 1B 28.60 43
HW/E2EMHL 28.00 .40
3.78 1.18
=M, &%, 232E 39.78 4.78
HMW/HLE2S 16.50 2.46
H/=S M xp2Zat 8.00 1.60
E/HIEE28/ X2/ IHH D120 28.00 40
2T 5.00 1.30
B /612 2 22 NE D20 27.30 37
232 E, &= 16.00 4.80 0.90 240.00
2T 6.25 0.31
=DV 27.00 .35
/g 27.00 .35
1.5%2 1.00 0.05

_46_




x
10
=
Iy
4 HI
iff]
>
E
I
Ja
=
e
>
—J
p|
0
1
[l
A
1
o
pa
I
=
1%
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SEtel = THH=2M 56.00 2.80
2168-00-0
=21 232E 15.75 2.38
& MEXEL 20 10MH:2M 1.00 0.05
2169-00-0
2170-01-0
2170-02-0
V.H3(& D) HM/BlY/BE28 /2t 27.00 1.35
V.H2 20,81, 2254 27.00 1.35
2171-00-0
V.H HM/HL 27.00 1.35
V.H /8L /Xt 26.88 1.34
AF2 Al MESIX| A/ ST/ S 48.30 5.64
P\t PNy H/BE/BE2s 60.90 6.90
2 A EctAE 1.00 0.05
2171-01-0
V.H & 0/ X2 et 26.50 1.33
2174-00-0
=& 232| EHE (H=1.5m) 12.00 0.60
3003-00-0
3009-00-0
3011-00-0
3013-00-0
2 Eo 2.5%1.7 4.25 0.21
H2 1.5%6 9.00 0.45
3014-00-0
AF2 Al ME X Tt 12.00 2.00
3017-00-0
3018-00-0
=9 27H/81€6+%5 30.00 1.50
2 Fa =2TH3*2.5 7.50 0.38
=21 S2TH1.7%1.5 2.55 1.06
3019-00-0
& et EHTH/pt&E 10.89 1.88
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ANEaEUWHSESXEIFEHAISE X F =

ETE z = = 522;—; = o i JNEr
3020-00-0

ZHIHH:1.7m 71.00 3.55
3024-00-0
3025-00-0

S/ &t 4.00 1.20
3028-00-0

S/ &t 14.80 0.74
3030-00-0
3031-00-0

HM/PTA 26.04

E\ 7.50 0.38
3032-00-0
3033-00-0
3034-01-0

HM/ 8L 4.00 1.20
3034-02-0
3035-00-0
3041-00-0

23m*1.45 TH 32.20 1.61

ST (H=1.2) 20.00 1.00
3042-00-0

SM/&d0lE 16.25 2.42
3044-00-0

STH/ETH 30.25 1.51

= TH 6.00 0.30

232 ESE XH=2m 8.00

H=1.6m 4.00 0.20

EH/2.5%1.6 1.00 0.05
3047-00-0

9.00 0.45

S, 20,8 10.00 1.80
3048-00-0
3048-01-0

E\ 8.75 1.68




SH=22 ENAFS X[ 32 &= A= LY
.ol L

NS z = 2 = E;E;‘;; = 2 o . '$i JIEt

St&A 2T 2.88 1.08
3050-00-0

XFRHZE D < 3.75 1.18
3051-00-0

2 Fa E=DNIESES 9.00 0.45
3054-00-0

=01 2T 3.00 1.10

=212 /g 4.00 1.20
3056-00-0
3059-01-0

V.H W/ HY/ 228/t 26.00 1.30

VH2 HM, HEY 25.30 1.27

Z2(V.H) /8L /x=et 25.00 1.25 3.30

=& A& X (H=2m) 36.00 1.80
3059-02-0

V.H2 =DV 25.00 1.25
3059-03-0

2Ele EJH/E 255, 7mH:2M 1.00 0.05
3060-00-0

V.H5(& 1) HT/HIL/E2F M 24.00 1.20

=21 2T 4.50 1.26

St&A 232E 1.20 0.92

S ELI2 8.40 0.42

H A ST, 82 5.50 0.28

=2Et = M+ 2 (H=2m) 7.00 0.35

& ANHEEZ(H=2.5m) 3.00 0.15
3060-01-0

=21 232E 6.24 0.35 0.31

St& 232E 1.20 0.92
3060-02-0

V.H3(& D) S, EH/HE 24.00 1.20
3063-00-0

H A =N, 4.50 0.23

2 A 2T 1.44 0.07
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SEtel EH HH=1.5 43.00 2.15
3064-00-0
3065-00-0
2 Eo 9.90 0.50
3070-00-0
SEtel Z, &2 (H=1.8) 96.00 4.80
SHA 232E 17.50 0.98 0.88
HI E 232E 26.25 5.25 1.31
3071-00-0
V.H4 HM/BIE/225/0H DI 24.00 1.20
3072-00-0
3073-00-0
S A 2T 1.00 0.90
=21 S/ B2 4.00 1.20
2 Fa SM/HIE/ xp2et 21.00 1.05
3075-00-0
2 Fa = TH 16.00 0.80
HEEHY 10.00 2.00
3076-00-0
V. H(Z D) HM/ Ao/ Xt /B2 23.18 1.16
3078-00-0
SEtel = T/ X2 S (H=2m) 52.00 2.60
3080-00-0
Hl A SN /ED|ISH=2.5 105.00 5.25
2 S /ED| S/ A B A4 1.00 0.05
3083-00-0
2 Fa S/ A/ HEX| B 6.25 0.31
3085-00-0
3086-00-0
= 27H, &8 EH(7.2%3.2) 23.04 1.15 3.10
3090-00-0
2 Fa =N, et 6.25 0.31
3091-00-0
=21 STH/ETH 9.60 1.76
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NMEUWSESAEFTEHAEX 2 ANE=2: EH=S A=Y
ETE z = 2 =z 522;—; a= 22 Hus == e 22 JNEr
=% 2, ket 10.00
3095-00-0
V.HI(ZHH AL /8L /x=et 22.95 1.15
3096-00-0
V.H2 ETH/81L /NI 21208 22.75 1.14
SOH(AIRA IS 2T, &8 20.00 2.80
=21 HM, HY, LE2AA 10.35 1.84
2 Fa I/ SM/=H0E 5.50 0.28
HE 1%1.5%1.2(2 ) 4.00 0.20
& = TH 1.00 0.05
HE 3.00 0.15
S A 1.2x1.2/=2 1.44 0.94
3097-00-0
3100-00-0
V.HB(Z 1) HT/HIL/E2F M 22.50 1.13
MRH(Ota2tH) 4000*4000%3000 48.00 2.40
3101-00-0
ho:D—\l' SW/HY/ 228 /&0 /232I EHIE 22 .50 1.13 3.06
VH2( &) =M, ETH 22.50 1.13
=9 (VHILHE) ME X Bt 22 .46 1.12 3.04
= ME X Tt 22.08 1.10 3.00
3110-00-0
=o ME X Tt 22.08 1.10 3.00
3112-00-0
SEtel =, E2UH=2.2n 40.00 2.00
3114-00-0
SHA MI/232E 4.00 0.22 0.20
3116-00-0
aco e e 22.20 120
OF2| St & Al 1.44 0.94
3117-00-0
= THEl A USAF[PIERX(H=1.6) 157.00 7.85
=21 SMELETH 1.00 0.90
S (23ELYR) USH™MHES DX (H=2.5) 18.00 3.60
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ANEaEUWHSESXEIFEHAISE X F ALE LY
.ol L

ETE z = 2 =z E;E;‘;; = = s JNEr
3119-00-0

V.H2 ETH/8IL /NI 21200 21.45 1.07
3120-00-0

V.H2 ETH/81L /NI 21208 21.45 1.07

V.H5 HM/2M/HYE/Ee28 20.00 1.00

V. H(Z D) HM/HL 19.50 0.98
3120-01-0

AF2 Al ST, e, 2deue 18.90 2.70

S A A EHIS S, HY 225 6.25 1.42
3120-02-0

AP A =27, &8 17.28 2.52

AFR2 A2 ENGIER == 27.90 3.60

2 A = TH 2.40 0.12
3120-03-0

V.H2 E=DNNsIE RPN P 19.50 0.98

Pl =M, 2EAl 4.50 1.26
3123-00-0

ES g =+l e 9.60 1.76
3124-00-0
3130-00-0

= ME X Bt 19.50 0.98 2.76
3133-00-0

Halelal 2T/ 2M+&2H0lE 5.20 1.32

e ==/Za0/E8210/E 5.55 136
3144-00-0

H A = TH 6.00
3145-00-0
3146-00-0

=21 232E 3.00 0.15
3147-00-0

V.H3 HM/HL 19.00 0.95

X2k "< 7.00 0.35
3148-00-0

= TH Bl A H=1.8 40.00 2.00
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3150-00-0

V.H ST/HIY/HB/2IEHSL /2o /H0t 18.75 0.94

AAHILWES) 2, & 16.12

= ot SH/HIL/XZY/2IRIEHY/ 2/ /HY 18.75 0.94 ?2.68

=2Etel = TH(H=1.5) 44.00 2.20

V.H(Z D) EH/HIL /2 2SR/ S AN 18.60 0.93

=0H(VH3LHE) M E R X2 110.36 11.84

A =M 6.00 0.30
3151-00-0

V.H3 2/HY/BE2E5/SM/XHZet 18.00 0.90

V.H2 HIL/EM 18.00 0.90

V.H2 M/ 225/H L 18.00 0.90

s M E R X 2 91.00 9.90
3152-00-0

V. H1 M/ SM/H L 17.56 0.88

= 2H(VH) ME R X Etdl | ST 23.40 3.14

=9 232 EBtY, S, & 17.56 0.88 2.56

V.H3 SIH/BIE /X2t 16.00 0.80

OrQ| 3t & Al 1.00 0.90
3154-00-0

s M E 2 X 2 16.00 0.80 2.40

s =T, &8 AFA| 56.12 6.42
3155-00-0

s SIH/Sd0lE 15.70 0.79 2.38

S =M 25.90 3.40

ey al 232 EHE, SN 36.00 4.40
3156-00-0

S =, & & 8l e 15.05 0.75 2.30
3157-00-0

V.H HY/EM/E2M 15.00 0.75
3158-00-0

V.H(E D) EM/HI/x2et 15.00 0.75

s =M 21.66 2.96
3161-00-0
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NMEUWSESAEFTEHAEX 2 ANE=2: EH=S A=Y
ETE z = 2 =z 522;—) a= 22 Hus == e 22 JNEr
o DAl XS AFA 68.85 7.68
HAEFE T (V.H) /8L /x=et 14.10 0.71 2.22
V.H HM/HL 13.80 0.69
A AH =, g, e 12.00 0.60
H A2 =, g, e 2.00 0.10
OF2| St & Al 2T 1.50 0.96
HAELED 2, xpat 12.00 2.00
Ctelt =, ord 36.00 7.20
Ctel2 =, Zo 14.00 2.80
=27 S7TH, ot 8.00 1.60
3161-01-0
o DUl AFAl, RFZHSH 43.35 5.14
V.H5 H/HE 225 13.76 0.69
3164-00-0
V.H2 HM/HIL/ S/ xH2et 13.50 0.68
3165-00-0
V.H2 SM/HE/R2a /82| 13.44 0.67
3166-00-0
V.H4 HM/ B 13.00 0.65
3167-00-0
V. H(Z D) HM/E25 HY, xp2aet 12.80 0.64
3168-00-0
Z1(V.H) HM/BY/XZe/B25 11.40 0.57 1.94
3169-00-0
V.H2 HM/BY/E2E5/22E ) 10.80 0.54
3170-00-0
V.H4 HM/HE 10.56 0.53
A 1.00 0.05
XH2 e (H=1.5m) = TH 76.00 3.80
3171-00-0
V.H5 S BT/ L/ BB/ B/ AT 10.35 0.52
SO (V.HBLHE)AES AR |MEQ X Bt 72.00 8.00
3172-00-0
= ME QX Tt 10.00 0.50 1.80
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SOH(V.HBLHE)SISTHA R |MEQ X| Bt 47 .50 5.56
3173-00-0

ZD3(V.H)IIE=D /8L /x=et 9.20 0.46 1.72

& et HM/HE 35.00 4.30

A 1.00 0.05

SH(FHEHAKRV.HUE) |MER X EHEG7 42 .00 5.00
3174-01-0

=a HM/ 8L 8.75 0.44 1.68

= ME X Tt 7.50 1.56
3174-02-0

V.H = TH 7.92 0.40
3174-03-0

= ME X Bt 7.50 0.38 1.56
3174-04-0

= ME X Bt 7.50 0.38 1.56
3174-05-0

= 2T 6.66 0.33 1.46
3174-06-0

= ST/ EHet 6.50 0.33 1.46
3175-00-0

=a 2T 4.44 0.22 1.24

SHAl 1,336.08 50.70 227.18 10.54 5,419.69 15.13| 2,343.90f 81,934.00
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A NSUBESTRIFUALND? RS HHEY 4B

W= o8 | 2w | z - !
5= = 3 7 2% | a9 |+ i
o o3 w|e oz w|g |z wlw |z o«
MiSE |22z3zsaN 30cm0] ot N3 2,025 15,940 27,965
Mes 2 |R22JclEEA 30cmO] 2t M3 8,025 7,117 15,142
M3SE |MesE N3 3,077 3,619 4,049 10,745
MisHE |2€EA M3 2,102 2,472 2,766 7,340
HESE |Hl=otes &0 N3 1,848 5,142 2,431 9,421
MesH2E |E2=M EH ton 22,050 329, 168 351,218
HM7SE |JIEra N3 1,848 2,173 2,431 6,452
H8SH |SAII(FLA)+HEEA0I3A [0.7M3 HR 21,242 24,978 27,947 74,167
MO9S E |27 gsotsx W 8,502 8,502
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s = = e 7 2 || 2z 4 D
¢ |2 % ea|2 a3 w| e |z o

Hig®2 |B32Z23celEEA 30cmO] 2t M3
SEEERI=Ep! 213 M3 i| 12,025| 12,025.0] 15,940 15,940.0 27,965| 27,965.0| &= B Al
A 12,025.0 15,940.0 27,965.0

M2EE |22232EHH 30cm0| ¢ M3
f22I2UEEA JIA M3 1 8,025 8,025.0 7,117 7,117.0 15,142 15,142.0| & E S AtHI
=] 8,025.0 7,117.0 15,142.0

M3SH |Meis s M3
SADI(FAa)+UE =013 |0.7M3 HR 0.1449 21,242 3,077.9 24,978 3,619.3 27,947 4,049.5 74,167 10,746.7| M8=H
= 3,077.0 3,619.0 4,049.0 10,745.0

HasH |28 M3
SADI(FA)+UE=a 013 |0.7M3 HR 0.099] 21,242 2,102.9 24,978 2,472.8 27,947 2,766.7 74,167 7,342.4 H8=H
8| 2,102.0 2,472.0 2,766.0 7,340.0

MSSH |81L5t2a &0 M3
SaI(R A0 2310131 [0.7M3 HR | 0.087| 21,242| 1.848.0] 24,978 2,173.0| 27.047| 2,431.3] 74,167| 6.452.3| MesE
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SAME: NSUHSESXNCFEHALEXF XNES EHEHY MEEY
T 2 Hl LS 2 gl &4 bl & Al
s = = &l Tt A el | > H D
& Ot = o = =2 o = = oH o Ot = o

2802 S &Eel ol 0.041 72,415 2,969.0 72,415 2,969.0
=2l 1,848.0 5,142.0 2,431.0 9,421.0

M6 HE |22 EA ton
A4 = 0.70 6,500 4,550.0 6,500 4,550.0
OFAIEl 8l D} A (835L) WEZE KG 2.50 7,000 17,500.0 7,000 17,500.0
E83 off Al ol 2.20 110,123| 242,270.6 110,123| 242,270.6
202 ol Xl ol 1.00 72,4151 72,415.0 72,4151 72,415.0
2802 &l ol 0.20 72,4151 14,483.0 72,4151 14,483.0
Al 22,050.0 329,168.0 351,218.0

M7 2 [JIEtE A M3
SADI(FA)+UE =013 |0.7M3 HR 0.087 21,242 1,848.0 24,978 2,173.0 27,947 2,431.3 74,167 6,452.3| M8 =
Al 1,848.0 2,173.0 2,431.0 6,452.0

MBS H |2a0(Sg2)+tig=220131 |0.7M3 HR
HSRA(2A) 0.7M3 CH 0.2038 93,042] 18,961.9 93,042] 18,961.9(0201-0070
3R L 11.6 1,501 17,411.6 1,501 17,411.6
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o3 F=AZ+22% Al 1 3,831 3,830.5 3,831 3,830.5
ALIIHSH M ol | 0.20833 100,237| 20,882.3 100,237| 20,882.3
HAEIAHEZE el | 0.04166 98,314 4,095.7 98,314 4,095.7
CEEETE! 0.7M3 o | 0.6533 13,750 8,982.8 13,750|  8,982.8|0230-0007
HEBEdO0IHEXZ 0.7M3 CH 0.01 252 2.5 252 2.5]0231-0007
83| 21,242 24,978 27,947 74,167
MO9S H |a waotsx M2
gH&I 2 (PE) (ZHI) W:1.5 L:150 M2 0.636 440 280 440 280 S4i2-11
R0 kg | 0.069 1,050 72| 1,050 2l
221 A (ZHl) BIHIOIZ, 48.6+2.3nm| M 0.1197 3,700 443 3,700 443 S 82-6-2
2oH 2xas(Y)|osae, aze | O 0.03 900 27 900 o7l
22U A S5ES(ZH]) | ZLES, ZULOM| H 0.1248 1,420 177 1,420 177 !
2RHAH REES () |2aE o | 0.0018 3,230 5.8 3,230 5.8/
22U 25ES(3H]) |LIISEE I 0.02 1,050 21.0 1,050 21.0 !
HIH B (1) o | 0.059 120,681 7,120.1| 120,681 7,120.1|
BHEE I Z2I5% Al 1 356 356.0 356 356.0
8| 8,502 8,502
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SAME: ASUHZ=ESXEFEAMSAF ANE2 EAHEH AEEY
= e 7 24 o) 42 bl 2

O HEZ2EZ3C2IE&EDX / 30cm0I2 / M3

HZ2ZACEEA 30cmO| Bt M3 1
O 22 3ACIEEA / 30cm0I2F / M3

SAZFLEE)N 30cm0O| BF M3 1
O HHE=EH / /M3

ZAI|(FLA)+HHEEY 0l A 0.7M3 HR 0.1449
O E5&EH / / M3

SAI|(FLA)+HEEH0IA 0.7M3 HR 0.099
© HldoteAa #4/ /M3

ZAI|(Fa)+UHEEY 0l A 0.7M3 HR 0.087

BS02 HEEA ol 0.041
© #H2M &XH / / ton

AFA A 0.7

ObNI € &l JFA(835L) BEE=E KG 2.5

SES off Xl ol 2.2

BS02 ot Xl ol 1

28S0g A ol 0.2
© JIEtEH / / M3

SAI(FLA)+HEEH0IA 0.7M3 HR 0.087
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= AN & I H A A
ZMNE: NSUHZES2XCITHAIGX R XESE EHES MERY(MD)
]l = 2 9 - o ]l
TH A& M Z dl 2,124,852
2 28 & M & 4l
= | Hi A BUAZSE(A)
[ & A ] 2,124,852
£ A8 & 2 d 8,643,822
S| B 28 & 2 4l 950,820 APLC-RPH x 11.00%
Hl [ & A ] 9,594,642
| Al ] HI 1,145,431
Al B = gt Hi
s &3 2 = H 59,570 (TH+2=+01HAY]) % 0.50%
W 2 8 2 345,407 L 2H] X 3.60%
=) 2 2 g = 66,203 C2H x  0.69%
2 2 2 g = 137,436 ESESIRE=t TR 1.59%
4 =z 2 & = 214,366 AML-PH x  2.48%
Jt g &3 H 2 34 198,807 XFML-2H x  2.30%
o & & 2 i 267,063 (ME+&%) x  2.48%
a] J| Et | Hl 656,291 (M2HI+<=24H) x  5.60%
SoEIEBAEEE 9,002 HUBEE x  6.55%
(ol - L - 6,910 (HEHI+& =+t EHH]) X 0.058%
[ & A ] 3,106,486
Al 14,825,980
e gtz 2l ] 889,558 H x  6.00%
0l = 2,038,602 (=2U+3H+22&) x  15.00%
= = ot oH 17,754,140
2 Ot Jt Xl | 1,775,414 (B221) x  10.00%
= = oH] 19,529,554
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Al

DAY NESUZESNAFLALNT IES EHSY MEBY (M)
W= o =2 = bl & b
% 3 7 2 | oe| 2z
e | 2 94| er| 3 @ | x| 3 9@ [« 2z o
[ NHSEHZA ]
01 AHEHUHA Al 1 2,124,852 8,643,822 1,145,431 11,914,105
=Y 2,124,852 8,643,822 1,145,431 11,914, 105
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LK S N
DAY NESUZESNAFLALNT IES EHSY MEBY (M)
W= o =2 3 bl = |
% 3 7 % o9l a bl 2
@ | 2 o | exr| =z @ | =3 a4 sn]| 3 o
01 &1 P4 =LY<
SAHAASTH o Xl LH & TH me 339.00 6,268 2,124,852 25,498 8,643,822 429 145,431 32,195 10,914,105] H1= =
XA =yl 3| 2.00 500,000(  1,000,000{ 500,000 1,000,000
Al 2,124,852 8,643,822 1,145,431 11,914,105
REER
NES
199-14 2& .38 me 12.00
199-13 35 e 7.00
301-6 15 me 170.00
301-1 15 e 50.00
Al 339.00
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SME: ASUSESNFTHAMEITR NES BN M4E8H(HY)
H 2 Hl = 2 Bl & Bl & Al
s E g & 71 Z el | =& inl
=) B = o ek JH 2 L = I = L = I = o
HigHE |HdHASXH SHAl LAEM m2 6,268 25,498 429 32,195
M2 HE |ZEHAIIEH=S M2 10,487 10,487
H3SHE |Z2HIAH0HDI = M2 1,907 16,412 18,319
MisH |22 ZHIA Ol =4l M2 20,286 73,863 94,149
MbssE |FYC(EH) 10ton hr 7,928 56,256 23,436 87,620
HezE [sE222I 5HP hr 870 66 936
HN78E |¢HD| 25kw hr 8,003 35,324 2,706 46,033
S i=k=2 FSESP 50m3/min hr 515 515
MO9S E [HAHESA hr 14 14
M10sE |83+ DD-720BH| & hr 62 62
HHsSE |SFA A KJA-02= Al hr 689 689
M12s &2 |0l EFIF KPF-15H| & hr 73 73
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SAY: NSUDE2NAZUALN T NBS EHSY HESA (M)
PR =S o2 3 bl & p]
5 E = e 7 2 ool aw bl o
g |2 Al en|23 w|logn|lz A a3 o

HASE |[MSASTM M L= e
1. 8 X R A
1) =24l
szow ol | 0.120 92,956 11,154.7 92,956 11,154.7
2SR ol 0.017 72,415 1,231.0 72,415 1,231.0
oS 2,385 2,385
2R
@ )| 25k hr | 0.102] 8,003 816.3| 35,324| 3,603.0| 2,706 276.0| 46,033| 4,695.3| W75 HE
SESl 50m3/min hr 0.102 515 52.5 515 52.5] M8z H
Mois A he | 0.102 14 .4 14 1.4 K95 E
ds3+ DD-720BH| & hr 0.102 62 6.3 62 6.3| H10E =
2T A KJA-02=2 he | 0.102 689 70.2 689 70.2| M5 E
Ol O1 Et 2t KPF-152H 2 hr 0.102 73 7.4 73 7.4 H12s &
oS | 816 3,603 413 4,832
| 816 15,988 413 17,217
2.%ABAME (HI&HZXI M)
NI Z bl
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0

CNEUIESNUFEUMER R NEHE EBAHEY MEEH(HH)

PR o2 3 bl & p]
s = e 7 2 ool 2z Bl o
¢ |z alexr|z w|len|z oAl o |z o

| 839 10 849
4.2YRMAHRY SM 1.5M
TEAIIEHES M2 0.015( 10,487 157.3 10,487 157.3| H2E &
2 157 157
] 157 157
5. A2
HO|I 8 (28) 0.15mmS=H S 0.034 4,500 183.0 4,500 153.0
AEIH (HHER) & | 0.3 150 51.9 150 51.9
HHE . S HI L T 28] 0.15mm2<& M2 3.529 716 2,526.7 716 2,526.7
T2 0. 15mm22 w2 | 1.578]  718] 1,129.8 76|  1,129.8
LSEHO0Z M 1.594 55.5 88.4 56 88.4
oS 3,949 3,949
| 3,949 3,949
6.2BZYULHH  |0ISA
DEEETEp
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01
>
02
x
Mo
=

TESNAFLAMLNNT NS BHSY HES(S0)

PR o2 3 bl & p]
s = = e 7 2 ool 2z Bl o
¢ |z alexr|z w|len|z oAl o |z o

L2 TS ZHIAH Ols4 M2 0.017] 20,286 344.8| 73,863 1,255.6 94,149 1,600.4| M4z =
2 344 1,255 1,599
| 344 1,255 1,599
7.8
L 24| EERIE o | 0.114 72,415 8,255.3 72,415 8,255.3
2 8,255 8,255
| 8,255 8,255
=] 6,268 25,498 429 32,195

Pl ES ISP W2
BASECHANNEL 20X90X70x2.3 m | o0.0s28| 3,600 190.0 3,600.0 190.0
TOPCHANEL 20x40x70x2.3 M 0.0528 3,540 186.9 3,540.0 186.9
CE R .2x2.4n( ) o | 0.024| 50,400 1,209.6 50,400.0|  1,209.6
eeEd 1.2%0.9m( & &) OH 0.0144] 108,000 1,5655.2 108,000.0 1,6585.2
CE R 0.9+2. IN(ETHE) oh | 0.0036 132,000 475.2 132,000.0 475.2
LS e 1.2%2.4m(=) OH 0.018| 48,000 864.0 48,000.0 864.0
TEEE 1.2+2.4n(STHE) o | 0.008| 120,000 720.0 120,000.0 720.0
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0

CNEUHSESRFAGERF NEE EHE

2 g Al
5 o e 7 2 2
=R 2 S N =T

HUROE 2.4m .0372| 6,000 223.2 6,000.0 223.2
CANOPY 0.6%1.2m .0036| 15,200 54.7 15,200.0 54.7
9B 0.5mm .0024| 2,800 6.7 2,800.0 6.7
22T Al0lE 0.4t 1476| 8,400 1,239.8 8,400.0|  1,239.8
SEIPN 7.2m .0084| 55,000 462.0 55,000.0 462.0
z=ze G-60%30% 10%2.3mm .1824| 2,100 383.0 2,100.0 383.0
csp<Re 50mm .0828| 14,400  1,192.3 14,400.0|  1,192.3
T-BAR 25+38%0. 41 .1836| 1,180 216.6 1,180.0 216.6
O] =X 21 16.8% 1| 1,509 1,508.5 1,508.5|  1,508.5
zree L2l 1
A=2T 99,722.0
S0l 72,415.0
B 10,487 10,487
22104 M=
22 48 .6x2. A6 0.2394 736. 1 3,075 736.1
OISEE 012 B48.61NS 0.06 750 45.0 750 45.0
Sao 0.2496 274.5 1,100 274.5
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DA HESUDL2NAFLALXD? URES 2 4EBH(HD)
W2 e = b 8 b
5= o e 7 > cel| +z

g |2 Al en|23 w|logn|lz A a3 o
gr& gt B.P48x48= H 0.0036 2,500 9.0 2,500 9.0
= %318 W | o.04] 550 22.0 550 22.0
BREE L 2HI125% Al 1 821 820.6 821 820.6
Bl =2 e, A (7% ERE) | o | 0.136 120,681 16,412.6 120,681 16,412.6
2] 1,907 16,412 18,319

MASE |22xa 2y N M2

HIHO =S LRSI | o.12| 245000 2,940.0 24,500|  2,940.0
JHM 1518-2H e 0.12 5,500 660.0 5,500 660.0
SEOE W1050xL 1829 | o0.24] 21,0000 50400 21,000  5,040.0
=010l H1219 H 0.24 2,200 528.0 2,200 528.0
%0l L1219 W o.1e| 1,200 144.0 1,200 144.0
=50l L1829 H 0.24 850 204.0 850 204.0
b 71 6" | o.4] 8000 1,920.0 8,000  1,920.0
A2 H 0.24 8,000 1,920.0 8,000 1,920.0
2 ot | o0.42] 16,5000 6,930.0 16,500  6,980.0
2SR M7 sEE) | o 1.02 72,415 73,863.3 72,415 73,863.3
= 20,286 73,863 94, 149
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2 9 o JF W <
SAE: NS2UHIEZXFHAGXR XNES EHEY MEEF(HH)
| 2 i T £ gl &3 gl g Al
S = g 2l Tt = Sl == gl
& It =2 o & It = o ¢ ot 3 o & It = o

M58 H |2YQ(ER) 10ton hr
e (EH) 10ton CH 0.2232 105,000f 23,436.0] 105,000] 23,436.0/2104-0010
25 L 3.8 1,501 5,703.8 1,501 5,703.8
S = Z%39% Al 1 2,224 2,224 .4 2,224 2,224 .4
AEIH2H AL SEIT0E S ol 0.471 100,237 47,211.6 100,237 47,211.6
ALI|HEZH SES70EE2 ol 0.092 98,314 9,044.8 98,314 9,044.8
=] 7,928 56,256 23,436 87,620

M6 H |Ss8=220] 5HP hr
sE=2T| 5HP CH 0.2731 243 66.3 243 66.3|7812-0005% 8
25 L 0.5 1,501 750.5 1,501 750.5
S F=AHZ*16% Al 1 120 120.0 120 120.0
=] 870 66 936

H78 2 [2&D| 25kw hr
Egapl| 25kw CH 0.2294 11,800 2,706.9 11,800 2,706.9]7505-0025
3R L 4.3 1,501 6,454.3 1,501 6,454.3
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SME: ASUSESNFHAMEIT NES BN M4E8H(HY)
H 2 Hl = 2 Bl & ] E Al
s H = & 7 2 cell =& H D
=) B = o =) = LI = = o ¢ Ot = o

o3 = Z*24% Al 1 1,549 1,549.0 1,549 1,549.0
& AHOIAHD SEETNE S ol 0.471 74,998 35,324.0 74,998 35,324.0
A 8,003 35,324 2,706 46,033

MBS E |&&D| 50m3/min hr
&0 50m3/min | 0.1663 3,100 515.5 3,100 515.5|5205-0035% 8
2] 515 515

HosHE |HHEA hr
NS A CH 0.5625 25 14.0 25 14..0]8801-0019% 8
A 14 14

MI0SE |[HsS+ DD-720BH| & hr
=5+ DD-720BH| & CH 0.6044 104 62.8 104 62 . 8| 7620-0002% &
A 62 62

MUSE [SFEdA KJA-02= Al hr
ZEl A KJA-02= Al CH 0.6044 1,140 689.0 1,140 689. 0| 7620-0002%F &
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SAY: HSUDESNAFLUALNT NBS FNSY HESH (L)
Wz ol =2 2 bl 8 p]
5= = & 7 2 ool 2z b
¢ |2 «%ledr|z w|ler|z oA = |z o

=] 689 689

X125 I |oflOf Ef 3t KPF- 152412 hr
01l Of E4 5t KPF- 15241 | 0.6044 121 73.1 121 73.1|7e0-0000z
8t 73 73
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H 01 X &9} H 01 X &9} A =

adK L 1351 1,535| 883(2) 1,501 1,501
gt XAl 18L L 845(2) 5,111 4.167 4.167 AXN
BtHEIAES EA 845(2) 35,650 13,000 13,000 AXN
U FSPS = Fay=] RLEDF-11 2d 1462 19,500 845(2) 24,150 22,000 19,500 AXN
na(gota)az 3M-5058 EA 845(2) 23,575 20,000 20,000 AXN
OQIA3EHIZS 32097 = 845(2) 5,580 5,360 5,360 AN
EUFN S =) =S 845(2) 4,600 3,800 3,800 AEN
EIPNPN 24 845(2) 7,940 3,182 3,182 AXN
BASECHANNEL 20x90x70x2.3 M 500 3,600] 433(2) 3,600 3,600 3,600 XM AHS9
TOPCHANEL 20x40x70x2.3 M 500 3,540 433(2) 3,540 3,540 3,540 M AHBQ
e oy 1.2x2.4m(=) OH 500 50,400 433(2) 50,400 50,400 50,400 M AHS9
eeord 1.2%0.9m(EHEH) OH 500 108,000| 433(2) 108,000 108,000 108,000 M AHBQ
e oy 0.9x2. IM(E =) OH 500 132,000] 433(2) 132,000 132,000 132,000 M AHS9
L ol 1.2+2 . 4m(&) OH 500 48,000] 433(2) 48,000 48,000 48,000 XM AHRQ
=== 1.2x2. 4m(2 M=) OH 500 120,000| 433(2) 120,000 120,000 120,000 M AHS9
oA X QIE 2.4m = 500 6,000 433(2) 6,000 6,000 6,000 M AHBQ
CANOPY 0.6%1.2m OH 15,200 15,200 M AHS9
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HE 50mm OH 500 14,400| 433(2) 14,400 14,400 14,400 X 4H59
T-BAR 25%38+0.4mm M 500 1,800 433(2) 1,800 1,180 1,180 X 459
Hol28(2g) 0.15mmS S 4,500 4,500 =y
AEIH(AHER) = 845(2) 230 150 150 =9
BtSHIE T 2 I 0.15mm2& M2 716 716 ECi=P
ZEHIL =4I 0. 15mm2& M2 716 716 =9
2SEH0IZ M 1364 58 56 56 =
za 48.6x2 . 4mm=6m M 145 3,500] 146(1) 3,075 3,084 3,075 X LG8
== o Z E48.6mmE N 145 900] 146(1) 950 750 750 X 468
Er= H 145 1,500 146(1) 1,420 1,100 1,100 X LG8
g e B.P48x48E N 145 3,400| 146(1) 3,230 2,500 2,500 X 468
2= W= M 550 550 X LG8
=&l 12/13 3 500,000 500,000 =
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SHAHOIAHD ol 74,998 74,998 2AE
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AYIQI(EH) 10ton CH 2104-0010 il 105,000 105,000 105,000
SEE2)| B5HP CH 7812-0005 W 243 243 243
2 &I 25kw CH 7505-0025 i 11,800 11,800 11,800
&) 50m3/min CH 1031 3,100 3,100
HHESA g 25 25
HNEZ2F DD-720BH| & CH 1299 104] 589(1) 110 104
2 A KJA-02= I CH 1229 1,754 508(1) 1,140 1,140
Ol O EF 3¢ KPF-15H| & CH 1299 121 587(1) 130 121
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